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Question Number : 1 Question Id : 103435405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the given series.

RES, SFT, TGU, UHV, .
Options :

1. ¥ WLV

2. % VLW

3. % WIV

4. ¥ VIW



Question Number : 1 Question Id : 103435405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 113 Ya § g Ue 91 B |

RES, SFT, TGU, UHV, I
Options :

1. ¥ WLV

2. % VLW

3. % WIV

4. ¥ VIW

Question Number : 2 Question Id : 103435406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % Ahead
2. ¥ Adverb
3. % Aid
4. % Acid

Question Number : 2 Question Id : 103435406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o U i3 aRich ¥ 9HH 8 | gTallich, T [dahed o A &1 IRE 7ol 6| 3% [Adhed HI Ia- Hx off 30 J 3T |
Options :

1. % 3

2. ¢ foba faRim

3. % Yeiddl

4. % AHg




Question Number : 3 Question Id : 103435407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # AIDS
2. ¥ Malaria
3. % Zika

4. % Swine flu

Question Number : 3 Question Id : 103435407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuH 81 gTlTe, T faeed 3/ diF ot aRE Tl ¢ | 39 A et o1 I &Y oY 30 ¥ 3T B
Options :

1. ® TgY

2. ¢ HaRar

3. % forepT

4. % g U

Question Number : 4 Question Id : 103435408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Snake - Hiss
2. % Duck - Quack
3. # Goat - Bleat
4. ¥ Camel - Howl



Question Number : 4 Question Id : 103435408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fiweal A @ & e Rfya % T TuE 81 gTlTe, T faeed 3/ diF o1 oRE Tl ¢ | 39 A et &1 I &Y oY 30 ¥ 3T B
Options :

1. % g7 - PHDHR

2. % 99 - B

3. % gyl - iIC

4.+ & - gldd

Question Number : 5 Question Id : 103435409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the fourth term on the same basis as the second term is related to the first term.

Lungs : Covid-19 :: Hypermetropia : ?
Options :

1. ¥ Nose

2. ¥ Eyes

3. % Teeth

4. % Liver

Question Number : 5 Question Id : 103435409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdHed T 997 B 1 A1 UG ¥ S41 UHR ¥ Y& fd g Fo TR ¥ ORI UG Ugd Ug ¥ Hafed g

BHS : Bifds-19 :: e . 2
Options :
1. # Al
2. ¥ 3




3. % 2l
4. % TP

Question Number : 6 Question Id : 103435410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain language,

sun is yellow is written as sir anu med;

moon is red is written as med piz tor;

red and yellow sun is written as nem piz anu sir.

What is 'and' written as?
Options :

1. # sir

2. ¥ nem

3. % piz

4. % anu

Question Number : 6 Question Id : 103435410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh TS W #,

sun is yellow Pl sir anu med & U H ferar T %;

moon is red Pl med piz tor & ¥U H forar T %;

red and yellow sun &I nem piz anu sir & ¥ H ¥ forar T %;

'and' &1 fHT =0 # ferar Srar g2
Options :

1. % sir

2. ¥ nem

3. % piz

4. * anu



Question Number : 7 Question Id : 103435411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, CHIRAG may be called DI3S1H. So, GOURAV may be called
Options :

1. % F2TS5X

2. % XS5T2F

3. % H2VS1IW

4. ¥ H45S1W

Question Number : 7 Question Id : 103435411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ff3d SIS YN &, CHIRAG ®I DI3S1H HgT ol 9ehdl g | Y, GOURAV &I G Il g |
Options :

1. # F2TS5X

2. % X5T2F

3. ¥ H2VS1IW

4, ¥ H45S1W

Question Number : 8 Question Id : 103435412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing towards a photograph, X said Y is the brother of my husband’s father’s son.” How is Y related to X ?
Options :

1. % Husband's Father

2. % Son

3. ¥ Husband's Brother

4. % Brother

Question Number : 8 Question Id : 103435412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TP qWR BT 3R IYURTIRA G, X T Hel, "Y MUA & TN F FHTHUE RI" Y, X T H4 Ia&fdd g2
Options :

1. % gfq & fuar

2. % TF
3. ¢ Ufd &1 4TS
4. % Y

Question Number : 9 Question Id : 103435413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven chairs of four different colours are arranged in a vertical height over one another under the following conditions:
1. Counting from the top, the third, fifth and sixth chairs are green.

2. Two black chairs are placed one over the another.

3. Two green chairs are placed between a blue and a red chair.

4. One green chair is between a black chair and a red chair.

Which chair is placed at the bottom?

Options :
1. # Green
2. * Black
3. * Red
4. ¥ Blue

Question Number : 9 Question Id : 103435413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed uRfRufadl & TR fafte 3 ot 91 $RITN 1 T g8 & SW TP dad Hars H ogaiRyd fbar marg:
1. SR I A R A9, ufadt oIk 53t pRIAT R TTH &

2.@WWW$WW?@§§ |

3. “feft SR aret il & o < 54 pRiaT < TS B

4. BN HIf 3R et Hdf & e T g8t paif 2

e Hid B O il @ TS R

Options :




1. % g

2. % HIcll
3. % dTd
4. ¢ el

Question Number : 10 Question Id : 103435414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, an assertion is given, followed by a reason. You have to decide whether the assertion is true, reason is true or both
are true and if the reason is the correct explanation of the assertion.

Assertion- Vaccines provide immunity for a specific time frame in case of certain viral diseases like Covid-19.
Reason- The virus changes its genetic code from time to time.

Options :

1. ¥ Assertion is true, reason is false

2. % Assertion is false, reason is true

3. ¥ Both assertion and reason are true, reason is the correct explanation of the assertion

4. % Both assertion and reason are true, reason is not the correct explanation of the assertion

Question Number : 10 Question Id : 103435414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o AU MU gy, U I T30 1 5, I 916 Ush HRU Qa1 T & | SMTUD! I8 o AT & o o1 SITNGHUA 9 §, PR A © AT
HI 9 § SR afg BRI, 3G 31 9! A 5|

AFHYA- PIAS -19 O & aRA N & AHS H b T RS w07 Ao o fore ufeRed ve™ avd &
HRU- TERY JHY-THY TR 30T 3d1RI% FHe dead e gl

Options :

1. % AfHHYT IT g, PRI T &

2. % HYBHYT 3T g, PRUI T ©

3. ¢ JBHYT 3R HRUT GHI I &, PRUT HY &1 Jg! AT &

4, % ANHYT 3R BRI I I §, HRUI HYT P! Tl RS Tal &




Question Number : 11 Question Id : 103435415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, a statement is given, followed by two assumptions I and II. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given assumptions, if any, is implicit in the given
statement.

Statement-National Education Policy of 2020 is framed in which students are given freedom to study the subjects of their choice making them
ready for different vocational jobs.

Assumption I- Students would like it if they got to choose subjects of their liking to study.
Assumption II- One objective of education is to prepare students for a career or a job.

Options :

1. % Only assumption I is implicit

2. % Only assumption II is implicit

3. # Either assumption I or assumption II is implicit

4. ¥ Both assumption I and II are implicit

Question Number : 11 Question Id : 103435415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T uy ¥, e Sy four mar g, e a1 & RUMe 1 3R 11 <1 718 § | 3MUh! 39 HYAl 1 I AT 8, Hdl 81 I8 A J1d
J e Ut 811 3yes! ag Aot o @ 136 & 718 yRomael & @ o 91, afe 1S gl d iRu mu e & Afga 21

HY- 2020 B1 ALY R A TR BT 715 8 T ol B faf¥et saraaiiies ARl o e duR 3 & g Srot uwia & fawal &1
3T HRA DI WAd &1 T8 6|

YRUT I- BTF 38 UIS B I 32 T B3 & I 30+ Gic o AW} BT T b T IR HeAdr g

YRUT 11- 181 T Ueh LT B! bl BRI TT NhR) & o TIR AT 8|
Options :

1. % Pad yron | Afga @

2. % Pad yruT 11 g

3. % T YROUM 1 3R T8 yron 11 Afgd g




4. YRUT [ 3R 11 a1 g §

Question Number : 12 Question Id : 103435416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the wrong term in the series.

4913, 6958, 9261, 12167
Options :

1. % 4913

2.9 6958

3. % 9261

4. % 12167

Question Number : 12 Question Id : 103435416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S H TTeTd UG Dl UgdH DR 1

4913, 6958, 9261, 12167

Options :

1. % 4913

2. % 6958

3. % 9261

4. % 12167

Question Number : 13 Question Id : 103435417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series.

24, 60,210,
Options :



1. ® 5197.5
2. %945
3. # 549
4. % 5000

Question Number : 13 Question Id : 103435417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafRed S & R B 1

24,60, 210,

Options :

1. % 5197.5

2.9 945

3. % 549

4. % 5000

Question Number : 14 Question Id : 103435418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram correctly depicts these statements ?

Statement I - No flower is Lily.
Statement II - All Lily are Blue.
Where F= Flower, L= Lily and B = Blue

Options :



3.¢

Question Number : 14 Question Id : 103435418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifed # 9 319 I1 9 3G 39 HY1 I U5l e U Gidl 82
HYA 1 - Bl Pl ferelt Tal g

B 11 - T foreht i &

et F= Bd, L= forelt 3R B = e

Options :



3. ¢

Question Number : 15 Question Id : 103435419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I am 180 degrees left to North? Find the direction I am facing right now.
Options :

1. ® East

2. % West

3. ®* North

4. ¥ South

Question Number : 15 Question Id : 103435419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T IR PR 180 fSUT MU 3R 52 a8 fo=m 71d A forgd snft ST g@ 5|
Options :

1. % 7qd

2. % i3y

3. % IW

4. ¢ Sigor

Question Number : 16 Question Id : 103435420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul is driving towards east. He finds massive landslide on the road and turns 90 degrees to his left and moves another 200 m and then heads
towards his home in the clockwise direction at 135 degrees. In which direction Rahul is moving now ?

Options :

1. ¥ South-East
2. # North-West
3. % South-West
4. #* North-East

Question Number : 16 Question Id : 103435420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 Jd B 3R ST I 8T ¢ | I8 TSP WR §3T YT UTdT & 3R 370t a1l 3R 90 f&t & g 3R 200 Hiex o1 d@dr 8 3R bR 135
%T/ﬁqvaf\wm?f%mﬁ&rqﬁwﬁ 3R STl B | X5 o fpa R & M 9g @12 2

Options :

1. ¥ Glgorgd
2. % JW-UigH
3. % Gf&uruigy
4. % IR

Question Number : 17 Question Id : 103435421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which answer figure would complete the question figure?

Options :



Question Number : 17 Question Id : 103435421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR MHA UY P DI IR B

Options :



Question Number : 18 Question Id : 103435422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. =

Question Number : 18 Question Id : 103435422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Riwedl 7 @ & te Rfyd % A TUE &1 gTlTP, T faed 3 diF ol oRE el ¢ | 39 fdhcd o1 I8 &Y off 310 I 3T B

Options :

1. =



Question Number : 19 Question Id : 103435423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following correctly represents the exact Mirror image of the question figure? Assume mirror at the right side of the question figure.



Options :

3. ¢



Question Number : 19 Question Id : 103435423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfd & O &9 1 U P &1 Iid Ul Sfd T et ufafferad wxal g2 U &1 0% i & ad iR A |

Options :



Question Number : 20 Question Id : 103435424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Write the maximum number of triangles in the following figure?

Options :
1. % 22
2.9 27
3. % 26
4. % 30

Question Number : 20 Question Id : 103435424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad sefd & By & siftsmdn de ford?

Options :
1. % 22
2.9 27
3. % 26
4. % 30
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Question Number : 21 Question Id : 103435425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of images of deities is called .
Options :

1. ¥ iconography



2. # photography
3. % pictography
4. # imagography

Question Number : 21 Question Id : 103435425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Saarsli Bl Sfad & TS PRI TR
Options :

1. ¢ TSB!

2. % JEA

3. % femfafu

4. % SUSIUTG]

Question Number : 22 Question Id : 103435426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pt. Birju Maharaj is well known for
Options :

1. % Kuchipudi

2. % QOdissi

3. % Bharatanatyam

4, ¢ Kathak

Question Number : 22 Question Id : 103435426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U. foRe 7IeR™ & M RIS B

Options :

1. % plaggt
2. % IfifsHt



3. % HRdIAIH
4. & DYDh

Question Number : 23 Question Id : 103435427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following was the span of first "five year plan" of India?
Options :

1. ¥ 1951-1956

2. % 1952-1958

3. ¥ 1950-1955

4. % 1955-1960

Question Number : 23 Question Id : 103435427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 5 A & d 4Rd 1 ugd! "daady Fer B sty o
Options :

1. % 1951-1956

2. % 1952-1958

3. #® 1950-1955

4. % 1955-1960

Question Number : 24 Question Id : 103435428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word "Economics" has been derived from which language?
Options :

1. # Italian

2. ¥ Greek

3. % Latin

4. # French



Question Number : 24 Question Id : 103435428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"SRR Teg fohd HTHT ¥ T §3HT 87
Options :

1. ® gdredl

2. ¢ A

3. % qfed

4. % I

Question Number : 25 Question Id : 103435429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the main cause for transmission of the 'Hepatitis C ' virus?
Options :

1. # Bite of Mosquito

2. % Contaminated food

3. % Sharing Drug Needle

4. # Sharing Cloth

Question Number : 25 Question Id : 103435429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed § I & 91 gy ¢ TRy & YRl T T8 HRUT 62
Options :

1. #® HaSY DB hIcH]

4. % HUST LA DAl



Question Number : 26 Question Id : 103435430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the main component of gobar gas?
Options :

1. # Carbon Dioxide

2. ¥ Methane

3. # Propane

4. % Oxygen

Question Number : 26 Question Id : 103435430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrofaRad o 9 HF 1 TMeR 7N &1 8 9Ch 87
Options :

1. % P SRASS

2. ¢ Y

3. % U

4. % e

Question Number : 27 Question Id : 103435431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is responsible for depletion of Ozone layer in atmosphere?
Options :
1. # Nitrous Oxide
2. ® Carbon dioxide
3. % Chlorofluorocarbon
4. ¥ Carbon Monoxide

Question Number : 27 Question Id : 103435431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
argHsd H SiIeiF 1Rd & g9 & fog foreR g7
Options :

1. #® Fqigcy ATRSS

2. % PHle- SRS

3. ¢ FARIFARIDTE

4. % P& AAIGIES

Question Number : 28 Question Id : 103435432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India stretches 3,000km from east to west, spanning roughly 30 degrees longitude. This corresponds with a difference in mean
solar times - the passage of time based on the position of the sun in the sky.

Options :

1. # one and half hours
2. # two and half hours
3. % one hour

4. ¥ two hours

Question Number : 28 Question Id : 103435432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd AT 30 TSI Yot & g & ufed e 3,000km 0% el ¢ | I8 31d IR I09 & R Y A WAT§ - BT H g
fRf & YR TR TG BT St

Options :

. % 3gHe

2. % QB UC

3. % U® Yel

4.9 QqHe

Question Number : 29 Question Id : 103435433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which river divides peninsular block of India into two parts?
Options :

1. ¥ Narmada

2. % Mahanadi

3. % Ganga

4. % Kaveri

Question Number : 29 Question Id : 103435433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIF T A YR & i G B el Ui H i st 82
Options :

1. ¢ e

2. % HgHdl

3. % M

4. % BRI

Question Number : 30 Question Id : 103435434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following died in 1948?
Options :

1. # Bal Gangadhar Tilak

2. % Subhash Chandra Bose

3. % Bhagat Singh

4. ¥ Mahatma Gandhi

Question Number : 30 Question Id : 103435434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafered o 9 forget gg 1948 7 g8 A2
Options :

1. % §7 TeR foeid

2. % YUY I= 919

3. % yirq Rig

4. TG el

Question Number : 31 Question Id : 103435435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Indian 'Independence Act' Passed in British Parliament?
Options :

1. ¢ 18 July, 1947

2. % 2 March, 1947

3. % 15 August, 1947

4. % 10 August, 1947

Question Number : 31 Question Id : 103435435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeer T o R <= s o aid fosar mar u
Options :

1. ¥ 18 JAS, 1947

2. % 2T, 1947

3. % 15 31, 1947

4. % 10 A, 1947

Question Number : 32 Question Id : 103435436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the Governor General of India during the 1857 revolt?



Options :

1. ¥ Charles Canning
2. # Warren Hastings
3. % John Adam

4. # John Shore

Question Number : 32 Question Id : 103435436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1857 % fA8I8 & SR YR & AERSAUTT B A2
Options :

1. ¥ TR BT

2. % gRA R

3. % WM UTSH

4. % SRR

Question Number : 33 Question Id : 103435437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vasco da Gama landed in India at
Options :

1. % Bombay

2. % Madras

3. % Calicut

4. # Calcutta

Question Number : 33 Question Id : 103435437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qRep! & TMHT HRA H H IR T
Options :



1. % §i
2. % Hgld
3. ¢ Picrde
4. % HAG

Question Number : 34 Question Id : 103435438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Bharat Ratna" Award was instituted/established in which year?
Options :

1. ¥ 1954

2. % 1950

3. % 1947

4, % 1948

Question Number : 34 Question Id : 103435438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ¥ RIBR o g & it menford forar mam ur
Options :

1. % 1954

2. % 1950

3. % 1947

4. % 1948

Question Number : 35 Question Id : 103435439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book "Buddha Or Karl Marx" written by .
Options :

1. #* C. Rajagopalachari



2. ¥ Jawaharlal Nehru
3. ¥ Mahatma Gandhi
4. « Dr. B.R. Ambedkar

Question Number : 35 Question Id : 103435439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I "§ 91 HIel A" FRANECIRIER]
Options :

1. % Y. ASHIATATRT

2. % TAERAd g%

3. % T et

4. ¢ L. d1L.3R. TSI

Question Number : 36 Question Id : 103435440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The drafting committee of Indian Constitution was headed by:
Options :

1. # Dr Rajendra Prasad

2. % Dr. B. R. Ambedkar

3. # C. Rajagopalachari

4. ® Sachchidananda Sinha

Question Number : 36 Question Id : 103435440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR TfGU™ BT URsY it & sreaef 2.
Options :

1. % S ols UG

2. ¥ Sl dl.3R. FEEHR



3. % W ISAUTAERT
4. % giergr-<g Rl

Question Number : 37 Question Id : 103435441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 44th amendment of Indian constitution is about:
Options :

1. ¥ Right to property

2. # Right to equality

3. % Right to education

4. # Right to Speech

Question Number : 37 Question Id : 103435441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR TG & 440 IR RO F IR A &
Options :

1. ¥ FHRY 6T TR

2. % FHM BT YBR

3. % TRI&T &7 SHYPR

4. % qeh Dl HYDBR

Question Number : 38 Question Id : 103435442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Olympic Games are held every:
Options :

1. # 6 Years

2. % 5 Years

3. ® 2 years



4. ¥ 4 years

Question Number : 38 Question Id : 103435442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3N Ve Uds e IR o foy &1d
Options :

1. % 6qy

2. % 599

3. %299

4.4 49N

Question Number : 39 Question Id : 103435443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, were the Asian Games held for the first time?
Options :

1. % 1951

2. % 1952

3. % 1976

4. % 1965

Question Number : 39 Question Id : 103435443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg ou o, TS W usc IR sraiford fhg 7T A
Options :

1. % 1951

2. % 1952

3. % 1976

4. % 1965



Question Number : 40 Question Id : 103435444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Polo was played by nomads, who migrated to a country now called as some time between 600 B.C. and 100 A.D.
Options :

1. # Australia

2. % China

3. % Iran

4. % Russia

Question Number : 40 Question Id : 103435444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ol SoTRI GRT QT ST AT, S 600 B.C. 3R 100 A.D. & &1 $& 99T & forg ot AT I S ST % H Y= B 7 |
Options :

1. % 3ficfer

2. % 9

3. ¥ RH

4. % ¥y

Arithmetic Ability

Group Number : 3

Group Id : 10343523
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability

Section Id : 10343523
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343527
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 103435445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5+5x5+5-5is

Options :

1. * 10

2.¥5

3.% 4

4. % 15

Question Number : 41 Question Id : 103435445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5+5x5+5-5 gl

Options :

1. * 10

2.¥5



3. % 4
4. % 15

Question Number : 42 Question Id : 103435446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination a student was asked to find 1/12 of a certain number. By mistake, he found 1/2 of it. His answer was 50 more than the correct
answer. Then the number is

Options :
1. ® 165
2. % 178
3. % 180
4.+ 120

Question Number : 42 Question Id : 103435446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U UR1eT H S Bl T [HISd ST &1 1/12 J7d B & 078 HgT 1 U7 | T T, ST STBT 1/2 HIT I1d fhaT| STHT IR ol SR T 50
31 T oY ST gl

Options :
1. ® 165
2. % 178
3. % 180
4.9 120

Question Number : 43 Question Id : 103435447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a shopkeeper gives 10% discount and then 20% discount on a book which has the marked price 300, how much would be the selling price of
the book?

Options :
1. * Rs 263



2. % Rs 244
3. ®* Rs 224
4. ¥ Rs 216

Question Number : 43 Question Id : 103435447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T PR THP W 10% PI Fe &l 8 3R fhR 20% H1 Fe a1 8, et $ifded geg 300 8, T G o1 sy geg fa=n grme
Options :

1. % 263 24U

2. % 24454

3. % 22434

4.+ 216U

Question Number : 44 Question Id : 103435448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much percent above the cost price should a shopkeeper mark his goods so that after allowing a discount of 25% on the marked price, he
gains 50%?

Options :
1. ® 80%
2. ¥ 100%
3. ® 85%
4. % 50%

Question Number : 44 Question Id : 103435448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HMER DI 3O a¥g TR AN Jed o fora1 ufa=ra i sifard w11 A1e T i 3iford Jod IR 25% &1 e o & 918 39 50% Bl
AT TS B2

Options :

1. % 80%




2. ¥ 100%
3. * 85%
4. % 50%

Question Number : 45 Question Id : 103435449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number 0.1 is what percent of 20?
Options :

1. ¥ 0.5%

2. % 1%

3. % 5%

4. % 0.05%

Question Number : 45 Question Id : 103435449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRBAT 0.1, 20 BT feb =1 UTeT=Id 52
Options :

1. ¥ 0.5%

2.% 1%

3. % 5%

4. * 0.05%

Question Number : 46 Question Id : 103435450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The side of a triangle is increased by 10%. What is the percentage increase in its area?
Options :

1. % 22%

2.9 21%

3. % 20%



4. # 50%

Question Number : 46 Question Id : 103435450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH YT BT YT T 10% P 3G B T8 ¢ | TP &% d H b= ufawrd &1 3fs g8 82
Options :

1. % 22%

2.9 21%

3. % 20%

4. % 50%

Question Number : 47 Question Id : 103435451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sells his type writer at 10 % loss. If he sell it for Rs. 90 more, he gains 5%. The cost price of the type writer is Rs
Options :

1. %* 1200

2. % 800

3. ¥ 600

4. % 1000

Question Number : 47 Question Id : 103435451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f 310 T8 SR BT 10% BT IR ST 81 Tl 98 38 90 FUT 31 & ST 8, A I 5% BT ATH BidT & | 13U SR BT AT
q TUT G|

Options :

1. % 1200

2. % 800

3. ¢ 600

4. % 1000



Question Number : 48 Question Id : 103435452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man buys two articles for Rs.1800 sells one at a loss of 8% and on the other at gain of 10%. On whole he neither gains or loses. What was the
price of each article (in Rs)?

Options :

1. % 1000 ; 800
2. % 1300 ; 900
3. % 1010 ; 850
4. % 900 ; 800

Question Number : 48 Question Id : 103435452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Afd 1800 TIT H &1 g Vel §, b B 8% PI &I WR 3R TR DI 10% b AH R I9d1 8 | ol FIATs: I T A1 g g R 7
g1 81 /1 U g T Hed (JUT H) 7 UT?

Options :

1. ¢ 1000 ; 800

2. % 1300 ; 900

3. % 1010 ; 850

4. % 900 ; 800

Question Number : 49 Question Id : 103435453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If(y-x)=x=3+8. Findy:x.

Options :

1. % 8:11

2.9 11:8

3. % 8:5

4. % 5:8



Question Number : 49 Question Id : 103435453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁ(y-x)+x=3+8%|?ﬁy:xmaﬁl
Options :
1. #= 8:11
2.9 11:8
3. % 85
4. % 5:8

Question Number : 50 Question Id : 103435454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A purse contain 1 rupee, 50 paise and 25 paise coins in the ratio 5 : 6 : 7. If the total money in the purse is Rs. 273. The number of 50 paise coins
in the purse will be:

Options :
1. * 100
2. % 196
3.4 168
4. % 152

Question Number : 50 Question Id : 103435454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 9¢U H | 01, 50 U iR 25 O & Ryach 5:6:7 F SUTd A €1 TG IU H $of 47 273 IUU ¢ | IS H 50 U & Ryadp! o1 T git:
Options :

1. # 100

2. % 196

3. ¥ 168

4. % 152



Question Number : 51 Question Id : 103435455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the compound interest, if Rs 6500 was invested for 2 years at 8% p.a.
Options :

1. # Rs 1018.6

2. % Rs 1800.14

3. % Rs 10174

4, ¥ Rs 1081.6

Question Number : 51 Question Id : 103435455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tohqle SISl J1d B, Tl 6500 TIT, Ufd T 8% BT ax J 2 I8 o g =T fopg W |
Options :

1. ¥ 1018.6 ®4UQ

2. % 1800.14 34U

3. % 1017.4>4Q

4.+ 1081.6 34U

Question Number : 52 Question Id : 103435456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much will Rs. 512 amount to in one year at 12.5% per annum, when the interest is compounded half yearly?
Options :

1. % Rs 556

2. % Rs 596

3. ¥ Rs 645

4. ¥ Rs 578

Question Number : 52 Question Id : 103435456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TH q9 & Ufd I8 12.5% BT & 512 SUT farat 1R & SRIER SR, SI6 STl AT &0 ¥ Ihgie aldl 87
Options :

1. % 55600

2. % 596 %00

3. % 64500

4.+ 578 34U

Question Number : 53 Question Id : 103435457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two runners A and B start running at 22 kmph and 8 kmph towards each other. They meet after 2 hours. How far (in km) were they from each
other when they started?

Options :

1. % 28 km
2. % 60 km
3. % 50 km
4. % 64 km

Question Number : 53 Question Id : 103435457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I GISTd A 3R B U GER BI 3R 22 kmph 3R 8 kmph B! 7T F SIS Y& HRd g | 9 2 HS & 1¢ A & | T B & THT d Th g2k
3 fhrat g (km H) U2

Options :

1. % 28 km

2. ¥ 60 km

3. % 50 km

4. % 64 km

Question Number : 54 Question Id : 103435458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A train 480 metre long, is running with a speed of 72 km/hr. In how much time will it pass a tunnel of 240 metre long?
Options :

1. # 54 seconds

2. # 48 seconds

3. % 36 seconds

4. % 42 seconds

Question Number : 54 Question Id : 103435458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

480 HieR el Uh TRTSY, 72 kmvhr &1 7T T I 61 & | TG 240 Hiex dell T & fovaw T9 §f IR &wfl?
Options :

1. % 54qhg

2. % 48 ¥hg

3. ¥ 36 g

4. % 42JDHS

Question Number : 55 Question Id : 103435459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can do a piece of work in 10 days, but A alone can do it in 15 days. How many days would B alone take to do the same work?
Options :

1. # 25 days

2. ¥ 30 days

3. % 28 days

4. ¥ 32 days

Question Number : 55 Question Id : 103435459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B e fosedt &1l &Y 10 i 7 R Tohd &, AfpT A b I 15 fei PR Ipar g1 B 3 I B b b H fbaq feT




Rl
Options :

1. # 25 days
2. ¥ 30 days
3. % 28 days
4. % 32 days

Question Number : 56 Question Id : 103435460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P is 25% more efficient than Q. How much time will they working together, take to complete a job which P alone could have done in 45 days ?
Options :

1. # 22 days

2. % 25 days

3. % 35 days

4. ¥ 30 days

Question Number : 56 Question Id : 103435460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q q 25% 3P HIC B | d U 1Y HIH TR, 1Y DI R B | a1 GG oY, FoI P 3dbat 45 T & 1 6 Tt U1
Options :

1. % nfe
2. ¢ 25feT
3. % 35feq
4. % 30feT

Question Number : 57 Question Id : 103435461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Radius of largest sphere which can be made from sculpting a wooden cube of 7 cm is cm.
Options :



1. % 7

2. % 7\2
3.¥ 35
4. % 14

Question Number : 57 Question Id : 103435461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 98 T 1 AT SN 7 cm &b Ab Sl & I B a1 B 918 o bl @, I8 em g
Options :

1. %7

2. % 72

3.35

4. % 14

Question Number : 58 Question Id : 103435462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the percentage distribution of girls in five different schools. Total number of girls is 25% less that total number

of boys.
The number of girls in P, Q and T together is 3900. Find the average of number of boys in all schools.



Percentage of girls

Options :
1. ¥ 2000
2. % 1250
3. % 1500
4. % 1750

Question Number : 58 Question Id : 103435462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e fear o urg = vt fafi faemaa & asfeal & ufawrd fadarur & quifdr 8| Tsfedl @ od Te de®! &t $d T ¥ 25% HH g
P, Q 3R T H firamex Tsfordl &t T 3900 B 1 T+ fIemeral § de! o T BT 3 gd J1d B |




wsferal o1 wfawa

Options :
1. ¢ 2000
2. % 1250
3. % 1500
4. % 1750

Question Number : 59 Question Id : 103435463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the total number of employees and total number of officers working in different banks.

Total number of employee = Total number of officers + Total number of clerks
Number of clerk in BOB is what percentage more than the number of officers in UCO bank?



® Total Number of employees ® Number of Officers

Total number of employees and officers

sBl UEI uco EOI BOB
Bank

Options :

1. % 18%

2. % 25%

3. % 15%

4. v 12.50%

Question Number : 59 Question Id : 103435463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e mar IR W SHEal @ a Te SR Al daf § B eA ard ISRl B o e i a=ar g |
FHHATRA B S WS = YBIRT Bt Hod IAT + [AUd! B! Hof T

BOB ¥ faifte! &t T, gt a6 o Sifiemtial ot T 3 faram ufawra sifties g2




sBI UBI uco BOI BOB
CEd
Options :
1. % 18%
2. % 25%
3. % 15%
4. ¥ 12.50%

Question Number : 60 Question Id : 103435464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bar graph shows total number of customers buy Cakes and drinks in five months.

Total number of male customers is 1300.

If 10% of male customers and 30% of male customers are from January and April respectively. Find the ratio between the female customers in
April and January.



B Cakes ® Drinks
1000 -

888888838

MNumber of customers

100

January February March April May
Month

Options :

1. % 121:105
2. % 101:102
3. % 144:101
4. ¥ 111:147

Question Number : 60 Question Id : 103435464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR I Ui TgHI & e 3R U7 WG a1 A8 Bt Hl W] Bl G-l g |

T3 UTEH| B Hol AT 1300 & |

T2 10% T U 3R 30% T3 U HH: TS 3R 30T T § 1 30 3R S & Aflea Ul & oie &1 3a1d I1d B3|
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Options :

1. % 121:105
2. % 101:102
3. % 144:101
4.9 111:147

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General English
4
10343524




General English

Section Id : 10343524
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343528
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 103435465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Sarah and me had/ a great time while/ the kids were away.
Options :

1. ¥ Sarah and me had

2. % a great time while

3. # the kids were away.

4. # No Error

Question Number : 61 Question Id : 103435465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Sarah and me had/ a great time while/ the kids were away.
Options :



1. ¥ Sarah and me had
2. % a great time while
3. % the kids were away.
4. % No Error

Question Number : 62 Question Id : 103435466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It's an electric vehicle that/ looks like a cross between/ a motorcycle and a unicycle.
Options :

1. # It's an electric vehicle that

2. # looks like a cross between

3. # amotorcycle and a unicycle.

4. ¥ No Error

Question Number : 62 Question Id : 103435466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It's an electric vehicle that/ looks like a cross between/ a motorcycle and a unicycle.
Options :

1. # It's an electric vehicle that

2. # looks like a cross between

3. # amotorcycle and a unicycle.

4. ¥ No Error

Question Number : 63 Question Id : 103435467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Twelve passengers (were arrested in the Netherlands for investigation).
Options :

1. # were arrested in Netherlands for investigation

2. # were arrested in Netherlands under investigation

3. % were arrested in Netherlands for investigation purposes

4. ¥ No correction required

Question Number : 63 Question Id : 103435467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Twelve passengers (were arrested in the Netherlands for investigation).
Options :

1. ® were arrested in Netherlands for investigation

2. % were arrested in Netherlands under investigation

3. ® were arrested in Netherlands for investigation purposes

4. ¥ No correction required

Question Number : 64 Question Id : 103435468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

China is (now one of the largest trader in the world).
Options :
1. # now one of the larger trader in the world

2. ¥ now one of the largest traders in the world



3. % now one of the largest trader over the world

4. # No correction required

Question Number : 64 Question Id : 103435468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

China is (now one of the largest trader in the world).
Options :

1. ¥ now one of the larger trader in the world

2. % now one of the largest traders in the world

3. ® now one of the largest trader over the world

4. # No correction required

Question Number : 65 Question Id : 103435469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Meanwhile the number of sixty-five-and-older people will , it will grow almost 55 percent.

Options :
1. ¥ burgeon
2. # belie
3. % bolster
4. % deflect

Question Number : 65 Question Id : 103435469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



Meanwhile the number of sixty-five-and-older people will , it will grow almost 55 percent.

Options :

1. ¥ burgeon
2. # belie

3. % Dbolster
4. % deflect

Question Number : 66 Question Id : 103435470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The constant sound of Calcutta is the of horns and the descant of millions of crows.
Options :

1. ¥ cacophony
2. % calumny
3. ® canon

4. # chicanery

Question Number : 66 Question Id : 103435470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The constant sound of Calcutta is the of horns and the descant of millions of crows.
Options :

1. ¥ cacophony
2. # calumny
3. % canon

4. # chicanery

Question Number : 67 Question Id : 103435471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Putin has absolutely

P. no experience in

Q. demonstrates no political
R. acumen in these

S. high politics, and interviews.
Options :

1. ®* RPSQ

2. ® RQSP

3. ¥ PSQR

4. % PRSQ

Question Number : 67 Question Id : 103435471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Putin has absolutely

P. no experience in

Q. demonstrates no political
R. acumen in these

S. high politics, and interviews.
Options :

1. # RPSQ

2. % RQSP



3. ¢ PSQR
4. % PRSQ

Question Number : 68 Question Id : 103435472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

During World War I (1914-18) the British government of India enacted a series of repressive emergency powers that were intended to combat
subversive activities.

P. By the war’s end, expectations were high among the Indian populace that those measures would be eased and that India would be given more
political autonomy.

Q. The Montagu-Chelmsford Report, presented to the British Parliament in 1918, did in fact recommend limited local self-government.
R. The acts were met by widespread anger and discontent among Indians, notably in the Punjab region.

S. Instead, however, the government of India passed what became known as the Rowlett Acts in early 1919, which essentially extended the
repressive wartime measures.

Gandhi in early April called for a one-day general strike throughout the country.
Options :

1. * PQRS

2. % PSQR

3. #* PRSQ

4. ¥ PQSR

Question Number : 68 Question Id : 103435472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

During World War I (1914—18) the British government of India enacted a series of repressive emergency powers that were intended to combat



subversive activities.

P. By the war’s end, expectations were high among the Indian populace that those measures would be eased and that India would be given more
political autonomy.

Q. The Montagu-Chelmsford Report, presented to the British Parliament in 1918, did in fact recommend limited local self-government.
R. The acts were met by widespread anger and discontent among Indians, notably in the Punjab region.

S. Instead, however, the government of India passed what became known as the Rowlett Acts in early 1919, which essentially extended the
repressive wartime measures.

Gandhi in early April called for a one-day general strike throughout the country.
Options :

1. # PQRS

2. % PSQR

3. ¥ PRSQ

4. ¥ PQSR

Question Number : 69 Question Id : 103435473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

soporific
Options :

1. # agitated
2. # depressed
3. ¥ exuberant
4. # lethargy

Question Number : 69 Question Id : 103435473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



soporific
Options :

1. # agitated
2. # depressed
3. ¥ exuberant
4. # lethargy

Question Number : 70 Question Id : 103435474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

sparse
Options :

1. # facetious
2. # gainsay
3. # banal

4. ¥ infrequent

Question Number : 70 Question Id : 103435474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

sparse
Options :

1. # facetious
2. % gainsay
3. % banal

4. ¥ infrequent

Question Number : 71 Question Id : 103435475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the incorrectly spelt word.
Options :

1. ¥ deravitive

2. # desultory

3. % discrepancy

4. # diatribe

Question Number : 71 Question Id : 103435475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the incorrectly spelt word.
Options :

1. ¥ deravitive

2. # desultory

3. % discrepancy

4. # diatribe

Question Number : 72 Question Id : 103435476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ irresolute

2. # iresolute

3. % irresulute

4. % jressolute

Question Number : 72 Question Id : 103435476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¢ irresolute

2. % jresolute

3. # irresulute

4. % jressolute

Question Number : 73 Question Id : 103435477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Don’t pull all your eggs in one basket

Options :

1. % Do not pull all your resources in one possibility

2. #® Going above and beyond whatever is required for the task at hand

3. # A personal intuition you get, especially when feel something may not be right

4. ® A place where people gather to buy and sell inexpensive goods

Question Number : 73 Question Id : 103435477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Don’t pull all your eggs in one basket

Options :

1. ¥ Do not pull all your resources in one possibility

2. # Going above and beyond whatever is required for the task at hand

3. % A personal intuition you get, especially when feel something may not be right

4. ® A place where people gather to buy and sell inexpensive goods

Question Number : 74 Question Id : 103435478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Cock and bull story

Options :

1. ¥ An unbelievable tale, untrue story
2. #® Living in luxury

3. # A secret policy for an evil purpose

4. ® Before the time necessary to do something

Question Number : 74 Question Id : 103435478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Cock and bull story

Options :

1. ¥ An unbelievable tale, untrue story
2. # Living in luxury

3. # A secret policy for an evil purpose

4. # Before the time necessary to do something

Question Number : 75 Question Id : 103435479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Burial of a corpse in a grave or tomb
Options :

1. # Ghetto

2. ¥ Interment

3. # Inundate

4. ® Inveterate



Question Number : 75 Question Id : 103435479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Burial of a corpse in a grave or tomb
Options :

1. * Ghetto

2. ¥ Interment

3. * Inundate

4. # Inveterate

Sub-Section Number : 2
Sub-Section Id : 10343529
Question Shuffling Allowed : Yes

Question Id : 103435480 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

In the 1920s, new technology allowed filmmakers to attach to each film a soundtrack of speech, music and sound effects synchronized with the
action on the screen. These sound films were initially distinguished by calling them talking pictures, or talkies. The next major step in the
development of cinema was the introduction of colour. While the addition of sound to film revolutionized the medium, quickly driving out silent
movies, colour was adopted more gradually. The public was relatively indifferent to colour photography as opposed to black-and-white. But as
colour processes improved and became as affordable as black-and-white film, more and more movies were filmed in colour after the end of
World War 2. As the industry in America came to view colour an essential to attracting audiences in its competition with television, which
remained a black-and-white medium until the mid-60s. By the end of the 1960s, colour had become the norm for filmmakers.

Sub questions

Question Number : 76 Question Id : 103435481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prior to the advancement in technology allowing sound to be implemented, what kind of movies would dominate the cinema?



Options :

1. ¢ Silent movies
2. ® Talking movies
3. # Colour movies
4. ® 3D movies

Question Number : 77 Question Id : 103435482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It is state in the passage that

Options :

1. ¥ Colour movies were adapted more gradually when compared to Talkies.
2. # Talkies were adapted more gradually when compared to Colour movies.
3. # Talkies were adapted more gradually when compared to Silent movies.

4. ® Silent movies were adapted more gradually when compared to Colour movies.

Question Number : 78 Question Id : 103435483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By the end of which war did more and more movies filmed in colour?
Options :

1. ¥ World War 1

2. ¥ World War 2

3. % American Civil War

4. ® Vietnam War

Question Number : 79 Question Id : 103435484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which decade had the colour film become the standard norm for filmmakers?
Options :

1. ¥ By the end of 1960s

2. % At the start of 1960s



3. # By the mid of 1960s
4. % By the end of 1970s

Question Number : 80 Question Id : 103435485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ¥ Colour pictures were quickly adopted in the market just like with talkies.

2. % Sound films were initially known as talkies.

3. # Following the development in addition of sound to movies came colour pictures.

4. % Audiences were initially indifferent to colour or black and white films.

Question Id : 103435480 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

In the 1920s, new technology allowed filmmakers to attach to each film a soundtrack of speech, music and sound effects synchronized with the
action on the screen. These sound films were initially distinguished by calling them talking pictures, or talkies. The next major step in the
development of cinema was the introduction of colour. While the addition of sound to film revolutionized the medium, quickly driving out silent
movies, colour was adopted more gradually. The public was relatively indifferent to colour photography as opposed to black-and-white. But as
colour processes improved and became as affordable as black-and-white film, more and more movies were filmed in colour after the end of
World War 2. As the industry in America came to view colour an essential to attracting audiences in its competition with television, which
remained a black-and-white medium until the mid-60s. By the end of the 1960s, colour had become the norm for filmmakers.

Sub questions

Question Number : 76 Question Id : 103435481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prior to the advancement in technology allowing sound to be implemented, what kind of movies would dominate the cinema?
Options :

1. ¥ Silent movies



2. # Talking movies
3. #¥ Colour movies
4. % 3D movies

Question Number : 77 Question Id : 103435482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It is state in the passage that

Options :

1. ¥ Colour movies were adapted more gradually when compared to Talkies.
2. # Talkies were adapted more gradually when compared to Colour movies.
3. % Talkies were adapted more gradually when compared to Silent movies.

4. # Silent movies were adapted more gradually when compared to Colour movies.

Question Number : 78 Question Id : 103435483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By the end of which war did more and more movies filmed in colour?
Options :

1. ¥ World War 1

2. % World War 2

3. # American Civil War

4. ® Vietnam War

Question Number : 79 Question Id : 103435484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which decade had the colour film become the standard norm for filmmakers?
Options :

1. ¥ By the end of 1960s

2. # At the start of 1960s

3. # By the mid of 1960s

4. ® By the end of 1970s



Question Number : 80 Question Id : 103435485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ¥ Colour pictures were quickly adopted in the market just like with talkies.

2. % Sound films were initially known as talkies.

3. # Following the development in addition of sound to movies came colour pictures.

4. ¥ Audiences were initially indifferent to colour or black and white films.
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Question Number : 81 Question Id : 103435486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy ¥ IR fowddl 7 @ 39 fawey &1 9g &3 ot fau 17U IfY - fow=de weg & Uel OfY &1 faweu 3|
I + AR

Options :

1. % IS
2. % YYD
3. % NS
4.« TS

Question Number : 81 Question Id : 103435486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR foddl 7 @ 39 fadey &1 9g &3 oY feu 17U IfY - fowde weg & Il IfY &1 fdeu 3|
I + AfUDH

Options :

1. % aiive
2. % JTHYD
3. #% IIUYH
4. ¢ AU

Question Number : 82 Question Id : 103435487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafea uy & TR fowedl § T 39 faswey &1 999 &3 Sl SUT Vet HT el fadheu 3 |
Options :

1. ¢ &

2. ¥ gHDHGR

3. % 3ffdd

4. ® Tdare

Question Number : 82 Question Id : 103435487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad vy & R fawedl & @ 39 fadwen &1 999 & Sl SUT XMeg &1 Tg! fAdhed g |
Options :

1. ¢ Ao

2. ® gHDGR

3. % 3ifbd

4. % Tcicre

Question Number : 83 Question Id : 103435488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & IR ol 7 @ 39 fadey &1 9g &3 oY AT 17U IfY wreg & et IfY fawsg 2rec w1 fdweu 3 |

CISREE
Options :

1. % d+HY
2. % 91 +HY
3. ¥ did + HY
4, % 9T+ HY

Question Number : 83 Question Id : 103435488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & 9R fowddl 7 @ I fadey &1 9g &3 o AT 17U fY Treg & et IfY fawse 2ree &1 faweu 3 |

TSHY-

N

Options :

1. % d+HY
2. % 91 +HY
3. ¥ did + HY
4. % 9T+ HIY

Question Number : 84 Question Id : 103435489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad v o TR fawent § ¥ 39 faswed &1 70 &L Sl Yk e &1 Ut fadheu g |
Options :

1. ® DddaP

2. % AR

3. % gUi™

4. ¢ faqufa

Question Number : 84 Question Id : 103435489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR fowedl § I 39 fawed &1 999 &3 ol Y s &1 gl [dbed g |
Options :

1. ® pRdaD

2. ® fiRd

3. % gy

4. ¢ faufa

Question Number : 85 Question Id : 103435490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & TR fawed § O 39 fadwed &1 984 & ol Y a1 F1 Ie! fAdhea 7 |
Options :

1. % 3P 91 d aIY Tl 3T |

2.V MYAHIYE ], A TY eI & |

3. % IR <R T AV Yave o T |

4, % AR A9 fpAR I & |

Question Number : 85 Question Id : 103435490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o aR faweul # 9 39 fadhed &1 70 - Sl Y 919 &1 el fawed | |
Options :

1. % 3P 91 d aIY Tl 3T |

2. YT BT Y@ ], A WY T8I 5|

3. % R G R H AW Uhe fohar 7 |

4, % AR A9 fpAR I & |

Question Number : 86 Question Id : 103435491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied v & TR fadwenl o 9 39 faewed &1 70 &1 S foU T8 Wss g & Tel orf &1 fadwed § |

TGIFR
Options :

1. % gUY,qa
2. % UAlg GEI
3. ® TgAl,dgl
4. TZHT, TG




Question Number : 86 Question Id : 103435491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied v & aR fadwenl § 9 39 [awed &1 70 &1 S foU T8 Wss g & Tel orf &1 faded § |

RS
Options :

1. % gUY,ga
2. % UAlS GEI
3. % el gl
4. TZHT, TG

Question Number : 87 Question Id : 103435492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR foeddl 7 9 39 fasey &1 90 &3 oY T 7T arediwr & ot Ueh eg &1 gl fdbeu 81 |
IR faxm-

Options :

1. v I
2. % 3R

3. % I
4, % 3=ddH

Question Number : 87 Question Id : 103435492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafied Uy & R fowedl & T 39 fdwey &1 997 &< 11 QU T4 aTRiRT & 7T U RMec &1 Wal fadhed 8l |
IR fa=-

Options :

1. ¢ It




Question Number : 88 Question Id : 103435493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaa Uy & TR fawe § ¥ 39 fadeu &1 70 & off Yed 9ga< a1l e ¢ |
Options :

1. % 7

2. JHER

3. % T[T

4. % U

Question Number : 88 Question Id : 103435493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad uy & TR el § § 39 fasey o1 90 &Y Sl g sgaa ad Vg & |
Options :

1. % 1

2. ¥ AR

3. % T[T

4. % DU

Question Number : 89 Question Id : 103435494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa uy & aR fowedl & I 39 fawed &1 999 &3 ol 391 J3Y T Ja-1H &1 el f[dhed § |
Options :

1. % (d8) B [aeTey 1A |
2. % TSR ST YT (T8 ) 3T |




3. () TR HTST ol STt |
4. % (FRR) WP TG WG |

Question Number : 89 Question Id : 103435494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy o TR fawent § @ 39 faswey &1 ToF &L Sl 371 I3 arad Ja-TH &1 I8t fadweu g |
Options :

1. % (d8) Sl AT AT |

2. % TS 3T YT (98 ) 311 7T |

3. (g ) =T HTST el 3T |

4. % (TRR)MPHTE WG|

Question Number : 90 Question Id : 103435495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafea uy & TR fowedl § I 39 fded &1 999 3 o iU T8 9199 & &1d & e &1 gl fabed § |

7T 3 3 WA @R B |
Options :

1. ¢ 3 YahTa

2. % I g9 HTd
3. % QUIYd HId

4. % YT Yidwq

Question Number : 90 Question Id : 103435495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy & IR fowedl & T 39 fadey &1 w09 &9 St AT U 9190 & HTd & He &1 Ta! f[dweu g |

e A 3t WA @ B
Options :




1. ¢ 3 YahTa

2. % I gdHH HTd
3. % QUiyd &1

4. % U Hfdwrq

Question Number : 91 Question Id : 103435496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy § ,9R fowddl 7 9 39 fadey &1 9g &3 o AT U areg & U &1 9g! fdweu 3 |
g giesm R oI, ITH0! g1 o3|

Options :

1. % dcgarde ard
2. % ggad I

3. % IR dIe

4. ¢ Oy IR

Question Number : 91 Question Id : 103435496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 7 IR ol 7 @ 39 fasey &1 9g 3 oY T 7T are & U &1 98! fdweu 3 |
gfe gfeeym B, ST 81 S|

Options :

1. % Ydgarad g
2. % ggad IR

3. % WA I

4. Oy ar

Question Number : 92 Question Id : 103435497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafRed vy & ,aR foswedl 4 9 39 fdded &1 9g &1 o1t faR g gad 91 &1 gl fadhed g |

Options :

1. % YSHI IR gHMI & TR, Xad WM, AT, TS SATfE THH SHa¥R| UR {710 BT S1a=adh gial g
2. ¢ GSHI R GBI &b F1ex, Y0 WA, a1 W SIS TS THH Sa¥R! WR a5 &1 STa=adhdT gl o |
3. % FSHI W, b 18R, Y3 RIAT, I8 el SIS 3 THH SHeaeR) R faxu Pl SHTa<aesa gt &
4. % FSH] IR GBI o dTeR Xd WM, e W TSI HTfe THTH ¥R TR fAFT0- &1 Saadhdl gldl § |

Question Number : 92 Question Id : 103435497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy & R fowedl O T 39 fawed &1 o= &< SN faR foig god a1e &1 Hel fabea 81 |

Options :

1. % FSH] R gHMI o d16R, Xad WM, A8, A TSI TS THH HaR] IR A9 &1 Sa=gehdl gidi g "
2. ¥ TSHI IR GBI &b a8, ¥d WIF! , dTg-1 , W TSI TfS THH ¥R TR A0 & Sawadhdl glal g |
3. % TSP W ,gHMI &b a8, ¥Ad WA, a1, Qd TAISH! TS THH ¥R WR a5 & Sraaddr gl o
4. % TSP R GHMI o dgX YA WM, e Qd TS SATfe THH 3faR] WR IR0 &1 STaaHhdT gl § |

Question Number : 93 Question Id : 103435498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered gy & IR faswedl # 4 39 fadhed &1 9 &3 it faH g o a1l o1 gl fdbed o7 |
Options :

1. % DROM UieTg FRI&or SR MRt & forg el &1 Fgfad g1 &l |

2. % TROM TicTe fAe0r ofk TR & forg sl ot fgfad g it

3. % TRUM UicdTe fFAR1eor 3fR ARt o forg seianiRal 1 Fgfad g et -

4.« RN Hire Fdleror 3R PR & fore sefenial &) Figfed a9 &l |

Question Number : 93 Question Id : 103435498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed vy & ,aR fos el 4 9 39 fdded &1 9g 1 o1t faR1H FIg gad 91 &1 gl fadhed g |



Options :

1 % RO SieaTe Prdlen ol RTRE 3 R sefaral @ frafe 8 o
2. % RO SieaTe FRIemT iR RTR 3 for aetanied o) Forgfa €1 e
3. % RO SeTE FReT iR RTRT 3 for et ot gkt €1 e
4. RO ST Frdlerr iR FTR & for aetanil it i €1 |

Question Number : 94 Question Id : 103435499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & TR fawed § T 39 fawed &1 9 &3 off U U gerar & wet o aran fawea g |
AT DA -

Options :

1. ¢ HTARRAT HAT
2. % Wy SiaAl
3. % BT B BN

4. % ToRER ST

Question Number : 94 Question Id : 103435499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed Uy & TR fawed § 3 39 fadmed &1 9g- &< ol fU T8 ggrar & wet o aran fawed g |
BCSIEIRICRSIE

Options :

1. ¢ 3T HAT
2. % Y el

3. % B B Bl
4. % SR ST

Question Number : 95 Question Id : 103435500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafafea uy & TR fawedl § I 39 faswey &1 999 &3 il fou U ddifad & Tat o1 arar fasea g |

3 § IaHd-

Options :

1. % e ¥ s T

2. ¢ Tt & T STd & 0 H W PIg 9 WY B ol
3. % ORUTY 331 81 Y o 99 $& HIHT ST &

4. % T IIHH D1 8 Fadl B! =1

Question Number : 95 Question Id : 103435500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafeauy & TR ol § T 39 e &1 999 &% ol fou e aeifad & Tat 3 arar fawea g |

A § WIHd-
Options :

1. % e I 3 W

2. ¢ Tdlt & U SHTHd & U T XT Py a%g T DR g1
3. % ORUTH 331 81 WY o) 99 & JHT ST §

4. % ol IqHM &1 g1 w1 BT A1fgT

Sub-Section Number : 2
Sub-Section Id : 10343531
Question Shuffling Allowed : Yes

Question Id : 103435501 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

) feu 7Tu e Y earYd e Ug 3R U T Uil T At STR A |1
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JgHSd § 39 agHed § HidH 719 gaftd A1 & 1 59 UR Hig T &1 ae JHT ol Ahcl! § 1 T B e J <91 ST al 390 IR} 3R
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Sub questions

Question Number : 96 Question Id : 103435502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & IUUG! DI HBAT foal & 2
Options :

1. ® d9

2. % Q)

3. % dR

i E

Question Number : 97 Question Id : 103435503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YA R e R GHT T8I ] 2

Options :

1. % QPG &

2. % §gd TRH

3.V gdosle

4. % 9gd IERT 7

Question Number : 98 Question Id : 103435504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I ' BT Ha! UATIaTd Weg R G ?
Options :

1. # o0

2.9 Bl

3. % fgBR



4. % @

Question Number : 99 Question Id : 103435505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NED R EUIRRICE R

Options :

1. ® gt

2. ¢ it

3. % R

4, % foch

Question Number : 100 Question Id : 103435506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3gwe & e Ifud s ol |
Options :

1. % CTgcd DI @I

2. % YR BT aey

3. % Tchferdl B @l

4. ¢ QUG

Question Id : 103435501 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

3 fou 7T T @ eargdes Ue SR U U Ul 1 e STR g 1

A SAdFSI U & 1 U BT e AR A7 A BIeT BT 8 1 MM & agHST BT aludH T I Quo F&Ih Hhe - Tgdn 81 sid: I8l sfia=
THT TG & 1 AT Wioll o SHTYR TR A & ITIG! Bt AT T8 B T 5 1 [ BT Yo 981 I <3 § | T3S Bt GHd el 3BT
A § 39 agHed H H1AF 9 vaie A § 139 IR {1 U Bt dvg A off Gbl! § 1 T Y Rl ¥ 331 S d 39 IR} 3R
AT TR fe@rg 3d § 137 aadl A 39D! Yradl HI%! §¢ Sid & 137 Il ) Tie Netfersh 3 & o 1

Sub questions




Question Number : 96 Question Id : 103435502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X & IWIRI B! WA fora1 § 2
Options :

1. % d§g

2. % T

3. % IR

4, ¢ HIg

Question Number : 97 Question Id : 103435503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y IR Sfie & G1a T ] 2
Options :

1. % gl gRcde

2. % SgdTRHI§

3. ¥ Sgd 3818

4. % 9gd AW

Question Number : 98 Question Id : 103435504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T ! YarIaTd! Weg 1§ 2
Options :

1. % U

2. % el

3. % fgpR

4. % @l

Question Number : 99 Question Id : 103435505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YH T A R IRA TR ?
Options :

1. % g

Question Number : 100 Question Id : 103435506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTwse o forg Sferd i §iford |
Options :

1. % CTge &1 @il

2. % YR BT aey

3. % Tchiferdl B @l

4. QUG
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Sub-Section Id : 10343532
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Question Number : 101 Question Id : 103435507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is measure of ability of an atom to attract electrons?
Options :

1. # Electron gain enthalpy

2. ¥ Electronegativity

3. # Jonization enthalpy

4. # Electropositivity

Question Number : 101 Question Id : 103435507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfeRad & ¥ ®1F 91 WA & Faae -1 ! B B B & &1 HIY §2
Options :

1. ® gdac afe qul S

2. ¢ AT U

3. % S YUl ST

4. % faggd-uTHbdl



Question Number : 102 Question Id : 103435508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a condition where "Z" is group number, S equals the number of shared electrons, and U is the number of unshared electrons. What will be the
formula for Formal charge?

Options :

1. ¥ 7-S+2-U
2. % Z+U-S+2
3. ® U+S+2-Z
4. = 7Z+U+S+2

Question Number : 102 Question Id : 103435508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q?ﬁ@rgiaazwm% S WIS SAGT ! B AT & RIS ©, 3R U 1SN Ta] bl T Saiae -1 Bt G g | FaaHy s &1
eI
Options :

1. ¥ 7-S+2-U
2. % Z+U-S+2
3. ® U+S+2-Z
4. % 7Z+U+S+2

Question Number : 103 Question Id : 103435509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following quantum numbers are possible for many orbitals : n=4, =2, m=+2
Options :

1.¥ 1

2.%3

3.% 4

4. % 2



Question Number : 103 Question Id : 103435509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B3 Hed b [T FEfRed SicH JBIE T4 §: n=4, 1=2, m=+2
Options :

1.¥1

2. %3

3. % 4

4, % 2

Question Number : 104 Question Id : 103435510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is meant by Triple point of water?
Options :

1. ¥ When all the three states of water co-exist
2. % When water boils at 300 degree Celsius
3. ® When water exists as ice

4. % When water exits in its elemental form

Question Number : 104 Question Id : 103435510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt & Brqor foig & o arend 82

Options :

1. ¢ Sd et b1 diil SaRITY Hg-3HReied | gl
2. % SIq T 300 St Afcad iR I9aar g
3. % Sq U 9% & Y H A9E gidT 8

4. % 9F gHT 397 Hifeies &9 H Aiog 8idT &




Question Number : 105 Question Id : 103435511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shows ferroelectrical property?
Options :

1. ¥ Barium titanate

2. % @Gallium titanate

3. # Lead zirconate

4. % Vanadium oxide

Question Number : 105 Question Id : 103435511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed o @ ®F defaggd 1o welRfd #ar g2
Options :

1. ¢ 9RgH feeHe

2. % Tiferad feeme

3. % WIS foR&IMe

4. % gAISTH AHTFSS

Question Number : 106 Question Id : 103435512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the Instrumental technique used to demonstrate the presence of functional group :
Options :

1. # Alpha Rays spectroscopy

2. # Xray spectroscopy

3. % Infrared spectroscopy

4. ® Beta - spectroscopy

Question Number : 106 Question Id : 103435512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

PTIHD JHG B JUTRIT DI TefRid P o 7T TYad Heraeh T BT H Fd1sy;
Options :

1. % 3{ethl fur Wb Ul

2. % Uil W R Il

3. ¢ AR IR RPIU!

4. % §icT - Wag DIyl

Question Number : 107 Question Id : 103435513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The anti addition of a halogen to an alkene provides us with an example of what is called :
Options :

1. ¥ Stereospecific

2. % Chiral

3. # Enantiomers

4. % Diaxial

Question Number : 107 Question Id : 103435513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U9 | gl BT Ut-USTH 89 Ueh ISTeRUI U Hdl & o gl ST 8

Options :

1. ¥ EIRARthS

2. % DINd

3. % gfafdd (THemR)
4. % fgaeiy (Sfagar)

Question Number : 108 Question Id : 103435514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who shared the 1996 noble prize in Chemistry for discovery of buckminsterfullerene C?
Options :

1. ¥ Kroto

2. # Frindrich

3. # August kekule

4. ¥ Debye

Question Number : 108 Question Id : 103435514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fH T THBRRP R ¢ Bl WIS & ot X0 fa379 H 1996 BT Aadd [RIDR Irgh far
Options :

1. ¢ lcl

2. % Thgrd

3. % 3R hpdl

4. % T

Question Number : 109 Question Id : 103435515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum temperature at which the process will be spontaneous, when A S =120 Jk! mol'! and AH= 180 KJ ?
Options :

1. # 666k

2. % 1000k

3. % 1510k

4. % 798k

Question Number : 109 Question Id : 103435515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=LIqH 199 1 & for T IR wifohan 98 811, ST A S = 120 Jk'! mol'! 3R AH= 180 KJ?




Options :

1. % 666k
2. % 1000k
3. ¥ 1510k
4. % 798k

Question Number : 110 Question Id : 103435516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mass of 1 x 10?> molecules of Na.SOs :
Options :

1. % 3.1g

2.9 2.36g

3. % 2.7¢g

4. % 43¢g

Question Number : 110 Question Id : 103435516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Na:S0: & 1 x 107 (U3} T TH:
Options :

1. % 3.1g

2.9 2.36g

3. % 2.7¢g

4. % 43¢

Question Number : 111 Question Id : 103435517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the freezing point of a solution of NaCl in water which boils at 117.2 degree.
Options :

1. ¥ -62.48



2. % 46.5
3. % -65.5
4, % 874

Question Number : 111 Question Id : 103435517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

at & NaCl % faaae & fgaies Sl o B3 S 117.2 S R Isaan g1
Options :

1. ¥ -62.48

2. % 46.5

3. % 655

4, % 874

Question Number : 112 Question Id : 103435518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct order of stability?
Options :

1. #® SF6<S€F6<T€F6

2. % TGF6<SGF6>SF6

3. ¢ T€6<S€6<SF6

4. % TCF6>SGF6<SF6

Question Number : 112 Question Id : 103435518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 o 91 RRA1 &1 98! 1 87

Options :
1. % SF6<S€F6<T€F6
2. * TGF6<SCF6>SF6



3. ' TC6<SC6<SF6
4, #® T€F6>S€F6<SF6

Question Number : 113 Question Id : 103435519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H,S is also known as:

Options :

1. #® Sulphonated hydrogen
2. ¥ Sulphureted hydrogen
3. # Sulphonic Hydrogen
4. ® Sulphurated Hydrides

Question Number : 113 Question Id : 103435519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H,s 9 & ®u & ft ST S @
Options :

1. % gAbHCS gIelo

2. ¢ Jehg o BRI

3. % bl gIgloH

4. % RICS BRSRSY

Question Number : 114 Question Id : 103435520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which process Chlorobenzene is prepared commercially?
Options :

1. ¥ Raschig process

2. ® Swarts process

3. # Finkelstein process



4. % Sandmeyer process

Question Number : 114 Question Id : 103435520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TfohaT gRT FARIsSI SATaTI% &9 ¥ daR fhar STt g2
Options :

1. AT ufeha

2. % a1y Ufehd

3. % fthrareeTsH Ufshar

4. % YSHTR wfchar

Question Number : 115 Question Id : 103435521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which reaction the silver salt of carboxylic acids on reaction with Br, in refluxing CCl, undergoes decarboxylation to form alkyl and aryl
bromide?

Options :

1. ¥ Borodine-Hunsdiecker reaction

2. % Saytzeff reaction

3. ¥ Hofmann elimination

4. % Swarts reaction

Question Number : 115 Question Id : 103435521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for sifiiforan & sraffaafere S &1 RieaR lee Br, & A1Y RUATRAT Ccl, 7 Ao &1 R Tebzd 3R TR SHEs §9H & fog
SioTafRIARM ¥ oRdT 82

Options :

1. ¥ IRISTEA-EHSIDR SHHihAT

2. % Yot SffHfchar




3. % BB IHE
4. % @Y HfHipaT

Question Number : 116 Question Id : 103435522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
96500 C of electricity liberates from CuSOy
Options :

1. % 63.5g of Cu

2. % 31.74g of Cu

3. % 96500g of Cu

4. % 100g of Cu

Question Number : 116 Question Id : 103435522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CuSO,4 ¥ 96500 C foroTel Gadd g §
Options :

1. % Cul63.5g

2. % Cudl31.74g

3. % Cu'Pl96500g

4. % CuPhIl100g

Question Number : 117 Question Id : 103435523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of electrode ?
Options :

1. % gas electrode

2. % calomel electrode

3. # redox electrode



4. ¥ concrete electrode

Question Number : 117 Question Id : 103435523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # 9 o 91 30eIs &1 ISR el 82
Options :

1. % 9 3RS

2. % HANA SAICIS

3. % YSIN SAdgls

4. ¥ HPIC IAICIS

Question Number : 118 Question Id : 103435524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The IUPAC name of Ks[Co(CN)sNO].
Options :

1. ® potassium pentacyanonitrosocobaltate(II)
2. ® potassium cyanopentanitrocobalt(111)

3. # potassiumpentanitrocobalt(111)

4. ¥ Potassium pentacyano nitrosyl cobaltate(II)

Question Number : 118 Question Id : 103435524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ks[Co(CN)sNO] T IUPAC ATH|
Options :

1. % OIeREH GeNRHIFeNIdETeee (1)
2. % OIREW AP (1)

4. « U1 ROH UerrA! AReld didleee (1)



Question Number : 119 Question Id : 103435525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the reaction in which triphenylmethyl radical is prepared by treating triphenylmethyl chloride with a metal like Silver or Zinc in presence
of diethyl ether or benzene?

Options :

1. # Gattermann reaction

2. # Sandmeyer reaction

3. % Gomberg- Free radical reaction

4. ¥ Coupling reaction

Question Number : 119 Question Id : 103435525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 AYTHAT BT A1 Id13T STaH STZEUTST 3R 1 doi- &1 SURRFT # Fict 31 SRl S U1 & 1Y TR HAHYRd FARIZS &l TR
TP TISHHARUEA MSHA daR fHar ST g2

Options :

1. % Texuq Sifyforar

2. % SR HfHfsar

3. ¢ M- Gad gad i

4. % O b

Question Number : 120 Question Id : 103435526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is test for secondary amine?
Options :

1. # carbylamine test

2. ® azo dye test

3. % Liebermann nitroso test

4. ¥ golubility test



Question Number : 120 Question Id : 103435526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed o 9 o a1 fediae A & fog udem 82
Options :

1. ® PHRIGATHTET TR0

2. % TGl ST% Y&

3. ¢ foeRUA 1SR Ttermn

4. % YIRNCIAT URI&UT
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Question Number : 121 Question Id : 103435527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which amines are potent carcinogens?
Options :

1. # nitroamines

2. # amine

3. # nitrosomethylamine

4. % nitrosoamines

Question Number : 121 Question Id : 103435527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D Y THH THUEDHR] HaRod 67
Options :

1. % ArEgem=g

2. ® 3HIGA

3. % AECNMYEAHrs

4. ¢ TECIANSHHTE

Question Number : 122 Question Id : 103435528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Radioactive disintegration is which order reaction?
Options :

1. # zero order

2. % First order



3. #¥ gecond order

4. ® pseudo first order

Question Number : 122 Question Id : 103435528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey fage frg wife &t sifuferar g2
Options :

1. % Y P

2. ¥ JYH Hifc

3. % QWRIPIC

4. % FAYYH DIC

Question Number : 123 Question Id : 103435529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Formula for activation energy:

Options :

1. ¥ Threshold energy - average kinetic energy of the reactants
2. # Threshold energy + average kinetic energy of the reactants
3. % Average kinetic energy - threshold energy

4. ® transition energy - threshold energy

Question Number : 123 Question Id : 103435529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iUl il BT G-

Options :

1. ¢ QUG Soll (A1 TSl - SBRS! D1 3 Tfast Soll
2. % QUIGHAT Soll (ITBITE TSI + BRSBTS TiasT Hot
3. % 3d AN S - THIEEHET Soll (ATgIeS ToN)




4. ® HHHAU G0l (SIS TSH) - GHTTHTAT Soll (JTEITE T

Question Number : 124 Question Id : 103435530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are lipids found in the membrane of animal muscle and nerve cell.
Options :
1. # myecricyl
2. # cephalin
3. ¥ cerebrosides
4. # lecithin

Question Number : 124 Question Id : 103435530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U] U= SIR T HIRIHT BT fRreeit H e 9 arel forfs §
Options :
1. % HTgfhid
2. % T¥yhfer
3. ¢ WEESY
4. % AR

Question Number : 125 Question Id : 103435531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pellagra diseases 1s caused by deficiency of:
Options :

1. # vitamin ¢

2. ¥ vitamin By

3. # vitamin A

4. % vitamin D



Question Number : 125 Question Id : 103435531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AT 1 1 et A Bl &:
Options :

1. % faerfi i

2. ¢ faeiftA B,

3. % faeriiq A

4. % fqeIfB[ D

Question Number : 126 Question Id : 103435532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a part of quantum mechanics?
Options :

1. % electromagnetism

2. % nuclear force

3. ¥ gravity

4. % momentum

Question Number : 126 Question Id : 103435532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol @ 3 o 91 sicy difie! &1 fewar 78 2
Options :

|. % fagggedha

2. ® NPT T

3. ¥ TSATHYUI

4. % A



Question Number : 127 Question Id : 103435533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the most powerful spectroscopy that can give you a great idea about the structure of organic molecules?
Options :

1. ¥ NMR

2. # Xray spectroscopy

3. % Infrared spectroscopy

4. % UV Ray Spectroscopy

Question Number : 127 Question Id : 103435533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Tt Jo YTl Wt DI 8 ST 3D BTeieb U3 B TRET b TR H ST fIaR & Gahalt 82
Options :

1. ¥ NMR

2. % USR] fohr0I W RbIU

3. % 3R W RDpIU!

4, % UV [0 DRt

Question Number : 128 Question Id : 103435534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is formula of Calaverite?
Options :

1. ¥ AUT€2

2. * AUT€4

3. % AuTes

4. * AUTGS

Question Number : 128 Question Id : 103435534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faffead o @ S Saravise 1§ 82

Options :

1. ¥ AuTe,
2. % AuTey
3. % AuTe;
4. %= AuTeq

Question Number : 129 Question Id : 103435535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which compound is used to estimate the hardness of water?
Options :

1. ¥ EDTA

2. % BHA

3. % BHT

4. % ETDA

Question Number : 129 Question Id : 103435535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o R BT IUTIT UT &1 HARAT BT SHH T & forg faram S g2
Options :

1. ¥ EDTA

2. % BHA

3. % BHT

4. % ETDA

Question Number : 130 Question Id : 103435536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the shape of compound : [Cr(NH;3)]>* 2
Options :

1. # Square planner

2. # Linear

3. % Tetrahedral

4. ¥ Octahedral

Question Number : 130 Question Id : 103435536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PD : [Cr(NH;)6]>* BT STHR FATE 2
Options :

1. % PRI WY

2. % WH

3. % IIHADI (CTeg)

4. ¥ SFYVIFR (SMATRI)

Question Number : 131 Question Id : 103435537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the reaction:
Phenol + Benzoyl Chloride in the presence of NaOH gives Phenyl benzoate + hydrochloric acid

Options :

1. % Elbs persulphate oxidation
2. ® Reimer - Tiemann reaction
3. % Schotten - Baumann reaction

4. % Liebermann nitroso reaction

Question Number : 131 Question Id : 103435537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3{HTh T BT 11 Jd1ST:

NaOH ! IR & BId + IS1ad FaRIS S, fBATSd Sie + SRS IaalN® 3 &l 8
Options :

], % Uooq TRYAC SHRIIDH0I

2. % IR - gEe s

3. ¢ Qe - 130 SN

4. % fOIREA Argera sifferan

Question Number : 132 Question Id : 103435538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can give precise structural data for some molecules.
Options :
1. ¥ X-ray crystallography
2. ® Infrared spectroscopy
3. # gamma ray crystallography
4. ® chromatography

Question Number : 132 Question Id : 103435538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BB YA b T Tl WATHD STl ¢ Fhdl 8|
Options :
1. ¢ T-farr fobeeaiant
2. ¥ 3V W RbIU!
3. ® T7THT fhRuT foheeciet
4. % quiced

Question Number : 133 Question Id : 103435539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is the continuous spectrum of energy-bearing waves ranging from extremely short waves, such as high-energy X-rays .
Options :
1. * Qualitative analysis
2. % Quantitative analysis
3. % Analysis
4. ¥ Spectroscopy

Question Number : 133 Question Id : 103435539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fdd BT A, S I-Froll TR0 T AHR Froll-dgT Bat aeil bl AR WaeH gl
Options :
1. % UMD fA=elwor
2. % YEATHS [dRavor
3. % fqgqu
4. ¢ IR RDIU!

Question Number : 134 Question Id : 103435540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

which connect an atom with the next in a continuous network, involve any element of the periodic table and the resulting bond-types vary mostly
from ionic to completely covalent?

Options :

1. # metallic solid
2. # jonic solids

3. % Covalent solid
4. ¥ Extended solids

Question Number : 134 Question Id : 103435540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P YR Aede B URHATY &1 3T & 1Y Siedl &, 3ad TRl & [t o da &1 i HRar & iR IR SEY-THR Seak
TAE ¥ O aRE I TgHat b U 8id 62

Options :

1. % ¢fdd 3
2. % D 3
3. % ggUa® 3
4. ¢ foxaiva o

Question Number : 135 Question Id : 103435541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most common method used for synthesizing inorganic solids?
Options :

1. ¥ Ceramic method

2. # molecular method

3. % covalent method

4. % surface method

Question Number : 135 Question Id : 103435541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRad o ¥ SF 91 SfPTed 314 & AIAU & Tt IUART St S arel Tas [ fafd g2
Options :

1. v R fafe

2. % 3Tuifden fafg

3. % ggggrel fafg

4. % g fafy

Question Number : 136 Question Id : 103435542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Using the as a 'driving force', it was possible to intercalate oxygen into oxide networks, at room temperature.
Options :

1. *® bonding potential

2. # covalent potential

3. # chemical potential

4. ¥ clectrochemical potential

Question Number : 136 Question Id : 103435542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ BIRS 90 & 20 U UGN B, Héf dATHH IR, o ol HTa8S Acdd H fd-RTUT ST GHT T |
Options :

1. ® 3{TdY &HdT

2. % gggIol &HdT

3. % ™S &Fdl

4. ¢ faggd IEmafe® &wdl

Question Number : 137 Question Id : 103435543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following has very high bone bonding ability and osteoconductivity?
Options :
1. ¥ Hydroxyapatite
2. % Hydroxylamine
3. % Hydrogen peroxide

4. % Calcium oxide

Question Number : 137 Question Id : 103435543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 foraw iRy dud amar 3R i siipigiaciac! Sgd it g2

Options :



1. ¥ g gIaIICIse

2. % grESlidad Mg
3. % GIRSISH WRIRNISS
4. % HGH RS

Question Number : 138 Question Id : 103435544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which inorganic compound is used in vulcanisation of black rubber?
Options :

1. # iron

2. % sulphur

3. # carbon

4. % boron

Question Number : 138 Question Id : 103435544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for SfeTalf-es A1 BT ST BT Y8R B Tedh-1HR0T H [ STl 5?2
Options :

1. % gl

2. ¥ TIYH

3. % PHrad

4. % gRIHA

Question Number : 139 Question Id : 103435545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the synthetic polymer that is widely used as a non-stick surface in cookware.
Options :

1. % Thermoplastic polyurethanes



2. ¥ Polytetrafluoroethylene
3. % Polystyrene
4. # High-density polyethylene

Question Number : 139 Question Id : 103435545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 Ridfess graiR &1 914 Fd15T fSHT AU® 0  $HAWR H A11-Red Jdg & w4 # IudiT fGar Sarg |
Options :

1. % YATEIRES UidgRa—y

2. ¢ Tl TRRIT I

3. % Ol

4. % I UTcd UlATTei

Question Number : 140 Question Id : 103435546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which University, graduate students in the department of Chemical Engineering use digital computers in their doctoral research?
Options :

1. ¥ University of Michigan

2. % Stanford University

3. % University of Oxford

4. % University of Cambridge

Question Number : 140 Question Id : 103435546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore fasyfaenea & IR siftEife! faunT & Jde 3 U7 Siaeie SgaUM H fSfored HEex &1 IUTN Hd 82
Options :

1. ¢ TR fayfaarea

2. % WKABIS fayfasmer™




3. % JfiIws fayfaered
4. % Hfrye fayfdemem
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Question Number : 141 Question Id : 103435547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following computer aid is use to perform steady state heat and mass balancing , sizing and costing for chemical process ?
Options :
1. ¥ documentation
2. % excel sheeting
3. # Flowshedding
4. ¥ Flowsheeting

Question Number : 141 Question Id : 103435547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfied & ¥ & T S Teadl S SN M-S UishdT & ot fRUR /a1 ¥ 3R STHM AgaH, HTHR 3R AN Bl B &
ferg fopa Simar g2

Options :

1. % T

2. ®% Uyd 2T

3. % GRIRIEST

4.« GRARMTET

Question Number : 142 Question Id : 103435548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is a decision support tool dedicated to the management of plants that produce energy under the form of utilities?
Options :

1. # Erimino

2. # Eriane

3. % Amione

4. ¥ Ariane

Question Number : 142 Question Id : 103435548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T SUTMAATH & U & dgd Sl b1 IdTe B ard a3l & UsieH & for grftda Fofa gued= Sumo g2




Options :

1. % TR
2. % 3T
3. % SR
4. ¢ TR

Question Number : 143 Question Id : 103435549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is regarded as founder of inorganic quantitative and qualitative analysis?
Options :

1. ¥ Torbern Bergman

2. % Linus Pauling

3. #® Joseph Priestley

4. % Svante Arrhenius

Question Number : 143 Question Id : 103435549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e SrpTafe AETES 3R UM [IRAT0T & TGRS & &Y H HHT ST 82
Options :

1. ¢ TR SHHA

2. % forg gifeT

3. % Soith Uit

4. % Wie RATY

Question Number : 144 Question Id : 103435550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the principle of separation in Fractional distillation?
Options :



1. # melting point
2. ® vapour pressure
3. % boiling point

4. # freezing point

Question Number : 144 Question Id : 103435550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THTST 3MTFa F GYahRU 1 Rigid o1 82
Options :

1. % TeHD

2. % 9 qId

3. ¥ YD

4. % fgUi®p

Question Number : 145 Question Id : 103435551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The techniques that measure absorption in order to perform an assay are absorptiometry or absorption is called :
Options :

1. # Chromatography

2. % Spectrometry

3. % Diffraction

4. % Interference

Question Number : 145 Question Id : 103435551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG HI P T SaRNYUT 1 AU aTell Tehiih! bl IRV a1 SIgeNyUl S8l SIdl &
Options :

1. % Ui



2. ¥ WagH]
3. % fagda
4. % gEftheg

Question Number : 146 Question Id : 103435552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the process through which potential new therapeutic entities are identified, using a combination of computational,
experimental, translational, and clinical models?

Options :

1. % Chemical design

2. % Salt analysis

3. # Chemical formation

4. ¥ Drug design

Question Number : 146 Question Id : 103435552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiaa o @ o T uftrar § e Areaw ¥ SreeHd, TaTHS, SHaTE 3R AeHe Aisd & YOI &1 SUURT dd T 78
feferadita TeTef 1 ugaH &t ST 82

Options :

1. % YEfAe fesmed

2. % SqU fa=eiuT

3. % ISP T84

4. a1 (g feoms

Question Number : 147 Question Id : 103435553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is found to be the best matching between two molecules in drug design?
Options :

1. ¥ docking



2. # locking
3. % modelling
4. # bonding

Question Number : 147 Question Id : 103435553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&al & fEome 7 a1 usil & offa Tad et fie i 91 9Tt 7 g2
Options :

1. ¥ SifehTT

2. % I

3. ® AT

4. % 3MEYA

Question Number : 148 Question Id : 103435554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is obtained by copolymerization of 1,2- dichloroethane with sodium tetrasulphide?
Options :

1. # Polyethene

2. ¥ Thiokol

3. * Bakelite

4. % Melamine

Question Number : 148 Question Id : 103435554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafiyd & 9 &1 1 QifeaH CTRIThIRS & W1y 1,2-SSFIRITAT & Hgagad Ul gRT UK T SITdl 62
Options :

1. % Oieirefi|

2. ¢ Rateia




3. % 9Pparsc
4, % ATHHA

Question Number : 149 Question Id : 103435555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Full form of PDI is
Options :

1. # polymer dispersity index
2. ¥ polydispersity index

3. % polythene dispersity index
4. ® polymer distributing index

Question Number : 149 Question Id : 103435555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PDI &1 gUT YU gl

Options :

1. % UleiR fewufid Ssag

2. ¢ Uldll feaRi& s

3. % Ui fswRic Sea

4. % GIAiR g S

Question Number : 150 Question Id : 103435556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an alternating polyamide?
Options :

1. ® amide

2. % melamine

3. # Bakelite



4. ¥ nylon-2-nylon-6

Question Number : 150 Question Id : 103435556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad & 9 o9 91 yaradf aideass 82
Options :

1. ® THIRS

2. % HeHH

3. % dddlsce

4. AA-2-ATIA-6

Question Number : 151 Question Id : 103435557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a research method?
Options :

1. % data analysis

2. # survey

3. # field research

4. ¥ experiment

Question Number : 151 Question Id : 103435557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 3 o @ srgdur usha 78 o
Options :

1. % T fagayor

2. % Hdgmor

3. % & S YH

4. TR



Question Number : 152 Question Id : 103435558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a category of research?
Options :

1. % empirical

2. % applied

3. % basic

4, % advanced

Question Number : 152 Question Id : 103435558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafeied o 9 & I SrIue™ &1 9ot 78 52
Options :

1. % JANTRIG

2. % 9]

3. % gfard!

4.« 3dd

Question Number : 153 Question Id : 103435559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a procedural step for research?
Options :

1. % report writing

2. # research protocol

3. # identify problem

4. % discussion

Question Number : 153 Question Id : 103435559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed # o1 srgyy™ & fore ufhards Fed T8l 82
Options :

1. % RO aeq

2. # Y UcIPbia

3. % gHI DI U Bl

4. ¢ R - fam=f

Question Number : 154 Question Id : 103435560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the percentage of krypton gas in the atmosphere?
Options :

1. #® 0.00015%

2.9 0.000114%

3. ¥ 0.0002%

4. % 0.0000023%

Question Number : 154 Question Id : 103435560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
argHed H forpTe 719 &1 ufa=rd fa-r g2
Options :

1. # 0.00015%

2.90.000114%

3. ¥ 0.0002%

4. % 0.0000023%

Question Number : 155 Question Id : 103435561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The amount of oxygen consumed by the pollutants in mg/L is called of a given sample.
Options :

1. ¥ Chemical oxygen demand

2. # Curable oxygen demand

3. ¥ Common oxygen demand

4. # Controlled oxygen demand

Question Number : 155 Question Id : 103435561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGU®!| GRT mg/L & JUd SHiqTo &1 AE1 BT faT 7T 777 &1 HET Tl 5|
Options :

1. ¢ MRS SRS b1 7T

2. % I (FGREA) SRS B TN

3. % Y RIS &1 A

4, % TG RIS & A

Question Number : 156 Question Id : 103435562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Another name for photochemical smog is :
Options :

1. ® London smog

2. ¥ Los Angeles smog

3. # Canada smog

4. # Indian smog

Question Number : 156 Question Id : 103435562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THTRRIR® 39 BT gERTAH§




Options :

1. % T y3iran

2.« AN RoTed g3t
3. % HATST YA

4. % YR Yaira

Question Number : 157 Question Id : 103435563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

which of the following material is used for making protective cloths of car -race drivers, firefighters.
Options :

1. ¥ Normex

2. % lexam

3. # Bakelite

4. # plastic

Question Number : 157 Question Id : 103435563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead o 9 ford TrTl &1 ST FRIY SRARI, THH B D] &b YRETEHD HUS a1 & o fHar Jar g
Options :

1. ¢ A

2. % AN

3. % dddlsce

4. % WREH

Question Number : 158 Question Id : 103435564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following compound is very noxious?
Options :



1. ¥ acrolein
2. * nitrous oxide
3. # ferons

4. % carbon

Question Number : 158 Question Id : 103435564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed @ 3 ®F 91 difie 9gd SINER® 82
Options :

1. ¥ Teplfer

2. % A1ECY RS

3. % BRI

4. % BIe

Question Number : 159 Question Id : 103435565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hard water contains which ions?
Options :

1. % Na" ,CI”

2. % Mg2t He?

3. ¢ Ca** Mg**

4. % CI, Mg**

Question Number : 159 Question Id : 103435565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HOR STl § DI Y 3T BId 52
Options :

1. # Na" ,CI”



2. % Mg?t He?"
3. ¢ Ca?t, Mg?"
4. % CI", Mg?*

Question Number : 160 Question Id : 103435566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of following is not a steps that is performed during a chemical analysis?
Options :

1. ¥ sampling

2. % Discussion

3. % laboratory treatment

4. # field sample pre-treatment

Question Number : 160 Question Id : 103435566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed § 3 oF 91 I ey & R faan o a1a Hed el 62
Options :

1. ® qJHATRIU

2. ¢ fagR - famsf

3. % YYITRITS SUGR

4. % PITE T Id SUIR
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Group Number : 9
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Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 10343529

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 10343535

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 103435567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of chromatography?
Options :

1. * gas - solid chromatography

2. * liquid - soild chromatography

3. % gas - liquid chromatography

4. * ion exchange chromatography

Question Number : 161 Question Id : 103435567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRufafad ° @ ®F 1 quice 1 USR T8 82
Options :

1. % 9 - 319 quicda-

2. % 4. 319 gufeRad

3. ¢ 1954 gufaeH

4. % 3 fafg guice

Question Number : 162 Question Id : 103435568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is analytical technique used for the separation of compounds soluble in a particular solvent?
Options :

1. ¥ High Performance Liquid Chromatography

2. # jon exchange of chromatography

3. # Solvent chromatography

4. % Solute Chromatography

Question Number : 162 Question Id : 103435568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & -3 faxavuas de-iie o1 IuanT fedl faR faemae o gam=ia difie! & gy & forg fosar S 82
Options :

1. ¢ J= (e1e 5a qufcres

2. % gUicRaH &1 3194 fafma

3. % fqamg® quleaq

4. % fqor guiera

Question Number : 163 Question Id : 103435569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nanocrystalline materials manufactured by the sol-gel method give rise to foam-like structures known as




Options :

1. ¥ aerogels
2. # aerosols
3. % foam

4. % 5ol

Question Number : 163 Question Id : 103435569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hrd-oi fafd g1 AfHa Siforears T Il v St TReA1sT &1 3= Hdl § o SIS
Options :

1. ¥ Woid

2. % YAy

3. % =

4. % id

Question Number : 164 Question Id : 103435570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which heavy alloys and composites are being assessed for use as alternative DU penetrators?
Options :

1. #* noncrystalline chromium

2. % noncrystalline tungsten

3. * noncrystalline bronze

4. ® noncrystalline copper

Question Number : 164 Question Id : 103435570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
farT Y FRreiTq SR UifSTe o1 Yedie dbedd DU UAeed & U § SN & fore fasar ST g1 82

Options :




1. % R fpweda Hitas
2. ¢ TR-fpeefiy e
3. % TR-fhedia sy
4. % fpTedy aia

Question Number : 165 Question Id : 103435571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a classical method of quantitative analysis?
Options :

1. ¥ Gravimetric analysis

2. # spectroscopy

3. # calorimetry

4. % Voltmetry

Question Number : 165 Question Id : 103435571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 o 91 AT ey ot ey fafdr g2
Options :

1. ¢ HRTHS fa=ayor

2. % WaepIUt

3. % Harimfa

4. % e

Question Number : 166 Question Id : 103435572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method is used to measure the heat of a chemical reaction?
Options :

1. % goniometry



2. ¥ Calorimetry
3. % Spectroscopy
4. * Titration

Question Number : 166 Question Id : 103435572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fora fafd o1 SRt IS Siflifehan 1 &1 &t AT & forg fasa ST 2
Options :

1. % MRS

2. ¢ HARIAf

3. % WackDIUl

4. % 3{THIUA

Question Number : 167 Question Id : 103435573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which was the first alloy ever made and resulted in stronger weapons and tools?
Options :

1. # steel

2. # copper

3. ¥ bronze

4, % gluminium

Question Number : 167 Question Id : 103435573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(S qH P UG ST DI T ST 7T T 3R Fores TRUMHRERY Aofgd SR 3R SUHRT § 22
Options :

1. % WId

2. % dH




3. v Bl

4. % THHTY

Question Number : 168 Question Id : 103435574 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is test for mutagenicity ?
Options :

1. ¥ Ames test

2. % Widal test

3. % Aldol test

4. % Fehling's test

Question Number : 168 Question Id : 103435574 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

fafifad & @ S5 1 IaRaderar (ges i) F e adem 2

Options :

1. ¢ THY U800
2. % qrSSd URI&Ur
3. ® UosId U&m
4. % TafeltT ORlem

Question Number : 169 Question Id : 103435575 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A more complex and less defined syndrome is known as:
Options :

1. % Multiple sclerosis syndrome

2. % multiple chemical sensitivity

3. # sensitivity syndrome

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. ¥ Mild sensitivity

Question Number : 169 Question Id : 103435575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HfYH Sfed 3R HH yRUTT RIS & =0 H ST oI 8
Options :

1. % Aediud WhicRIRY RigH

2. % UpTIeh IS YdgTaierdr

3. % Hdgxiaar g

4. ¢ THY YdgARMadT (Arscs Afafefadh

Question Number : 170 Question Id : 103435576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of biosensors are widerly stuided in cells ?
Options :

1. ® Transistor-based

2. ® Transport based

3. # Transit based

4. ¥ membrane based

Question Number : 170 Question Id : 103435576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRBTSH H b YR & SRR BT AUD U I LI fohar 31l 82
Options :

1. % CifoReR nyTRd

2. % qRag nuid

3. % gifole 3TUTRd

4. v Reyecht eneed



Question Number : 171 Question Id : 103435577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of NADH?

Options :

1. ¥ nicotinamide adenine dinucleotide
2. ® nucleotide adenine nicotinamide

3. # nicotinamide adenosine dinucleotide

4. % nicotine adenine dinucleotide

Question Number : 171 Question Id : 103435577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NADH &1 qUf U0z &1 57

Options :

1. ¢ F@IfcAHSs TsfHH SRgfaadess

2. % YfqeAicrgs TsfH Maifcamgs

3. % [ApifeTarge TSR SRYfdaiess

4. % FoIdH TefH SRfdaaess

Question Number : 172 Question Id : 103435578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the major product of catabolism of purine nucleosides, adenosine and guanosine?
Options :

1. ¥ Urate

2. % Malate

3. % Adinosate

4. % serate

Question Number : 172 Question Id : 103435578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR feaaiaTgs, TSIRA 3R IR & U< &1 U d IdlE $IF 9182
Options :

1. ¥ g

2. % Tdle

3. % TfSARe

4. % W

Question Number : 173 Question Id : 103435579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most powerful psychedelic drug is:
Options :

1. ¥ LSD

2. % AZT

3. ¥ Morphine

4. # chloramphenicol

Question Number : 173 Question Id : 103435579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T QISR Agdha i &l 6:
Options :

1. ¥ LSD

2. % AZT

3. % ARBH

4. % FARHBDIA

Question Number : 174 Question Id : 103435580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an antidepressant drug?
Options :

1. # celexa

2. % prozac

3. ¥ mifepristone

4, % desyrel

Question Number : 174 Question Id : 103435580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfed & ¥ 31 saumeRie adl el 52
Options :

1. % ol

2. % Ui

3. ¢ TR

4. % SUR

Question Number : 175 Question Id : 103435581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ethylhexyl Methoxycinnamate is included in composition of :
Options :

1. # shampoo

2. # detergent

3. % hair oil

4. % fairness cream

Question Number : 175 Question Id : 103435581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR foTe AURNRYeHE & Tuce H A 3:



Options :

1. % 2

2. % fgesie

3. % HYdd

4. ¢ Y H1Y

Question Number : 176 Question Id : 103435582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not involved in the composition of perfumes?
Options :

1. # triclosan

2. % ethyl alcohol

3. ¥ aspirin

4. % diethyl phthalate

Question Number : 176 Question Id : 103435582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 &1 91 33 3 a1 § i 781 82
Options :

1. % TSN

2. % TR 3fchigd

3. ¥ TRARA

4. % SYSA BIYdC

Question Number : 177 Question Id : 103435583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the most widely use pesticides?
Options :



1. % Butachlor
2. ¥ Chlorpyrifos
3. % Captan

4. % Benfuracarb

Question Number : 177 Question Id : 103435583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 1t AMge &0 ¥ SUENT a1 S aTel SRS 82
Options :

1. % dcldeiR

2. ¢ FRIRUIRBY

3. % HpA

4. % SGHRIDIS

Question Number : 178 Question Id : 103435584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pesticide is used in India?
Options :

1. % Captan

2. % (B) - BHC

3. % Dicofol

4. ¥ Dimethoate

Question Number : 178 Question Id : 103435584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 f5g Slears &1 IuanT HRd H forar S 82

Options :

1. % BT



2. (B) - BHC
3. % SEHIBIA
4, % IZHUTC

Question Number : 179 Question Id : 103435585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Full form of BHC pesticide is:

Options :

1. # benzoicheaxachloride

2. ¥ benzene hexachloride

3. # Bromine hexachloride

4. ® beta-Hexachlorocyclohexane

Question Number : 179 Question Id : 103435585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BHC SRS &1 Ui U §:

Options :

1. % dHIShHorHIRISS

2. ¢ diH RITRIRISS

3. % SIHM gRITRINSS

N

4. % dicl-sTdIRSad g o

Question Number : 180 Question Id : 103435586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrect with respect to Fajan's rule?
Options :

1. ® More charge on cation and anion, more is the covalent character

2. # Larger the anion, more will be its polarizability



3. ¥ Cations having 24 electrons in outermost shell bring greater polarisation

4. % Smaller the size of cation ,larger its polarising power

Question Number : 180 Question Id : 103435586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT & | & ey & Fafeiad & 3 &9 91 77ed 82

Options :

1. % YA 3R BUME R ST 34f¥e 3w 8N, Yedaisie auf Ia-1 8t 3iferes gim
2. % PTG T ST 81T, SYB! YdThR0T & Ia-1 & e gt

3. ¢ SIRIAH BN H 24 G a1 S fH Yo ard §

4. % Y BT DR =1 BT GV, b Ydih 0T Qfad I ol 31 gRil
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343536
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 103435587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Glyceryl trinitrate is also called as:
Options :

1. # Aerolein

2. # Crude oil

3. % Crown oil

4. ¥ Nobel's oil

Question Number : 181 Question Id : 103435587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR eregee & 39 off oHT ST B
Options :

1. ® WA

2. % JORSDHA 3Higd

3. % 134 Hlgd

4. ¢ A9d 3figd

Question Number : 182 Question Id : 103435588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nucleophilic substitution reactions in which the solvent acts as the nucleophile are called:



Options :

1. ¥ solvolysis reaction

2. # Swarts reaction

3. % Schotten - Baumann reaction

4. # Groov's process

Question Number : 182 Question Id : 103435588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JfFaaiitsiere ufawire sifiiforar ford faams gfaaaiwmsd & U & S Hdl §, 39 Hal ol &
Options :

1. ¢ GlcdlleIRg SfiHfchar

2. % W@y fNfehar

3. % QA - I3 3ifHfeban

4. % 79 Ufchan

Question Number : 183 Question Id : 103435589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is name for the coordinate complexes form by acid dissolve in water?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. Etherates
2. Ester

3. Esterite
4. Esterase

Question Number : 183 Question Id : 103435589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 & 91 U § gaq a3 §RT §41E 8 9999 T &1 14 82

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. SUTH

2. TN

3. XRTEC

4. TR

Question Number : 184 Question Id : 103435590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is composition of Rectified spirit?
Options :

1. ¥ 95.6% of alcohol and 4.4 % of water
2. % 5.6% of alcohol and 7.4 % of water

3. # 76.6% of alcohol and 86.4 % of water
4. ® 95.6% of alcohol and 7.4 % of water

Question Number : 184 Question Id : 103435590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YFAwIg s fufke &) a1 F 1 82
Options :

1. ¥ 95.6% 3eHIIA 3R 4.4% T

2. % 5.6% PRI 3R 7.4% T

3. % 76.6% SCHIBIA 3R 86.4% T
4. % 95.6% ATHIGIA MR 7.4% T



Question Number : 185 Question Id : 103435591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is another name of Ethanol ?
Options :

1. % Brain alcohol

2. % grain alcohol

3. % corn alcohol

4. % millet alcohol

Question Number : 185 Question Id : 103435591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST BT GIRT T FT 82

Options :

1. % §F 3fchlgd

2. ¢ I 3fchlgd

3. % DI fchlgd

4. % fieic srcplgd

Question Number : 186 Question Id : 103435592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the reaction in which when phenyl esters on heating with anhydrous aluminium chloride in the presence of carbon sulphide gives a mixture
of 0- and p- hydroxyketones.

Options :

1. # Elbs persulphate oxidation
2. ¥ Fries rearrangement

3. % Phthalein reaction

4. % Kolbe's reaction

Question Number : 186 Question Id : 103435592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 3HfNiferar &1 A IdT3T o FIeH Yebgs o Sufyfa & fAsidia Tegfiifom aaiRizs & 1Y fhsd Ter & TH &4 | o- 31R p-
gRSIRIIda BT YU |

Options :

1. % Tosq THcthe SfiRiTSTA
2. ¥ ThISSl G AT

3. % Yai rfiifepan

4. % Pley HYfhaT

Question Number : 187 Question Id : 103435593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is formula of Activity?
Options :

1. ¥ Activity coefficient x Molarity

2. # Activity coefficient x molality

3. # Activity coefficient x normality

4. % Morality x Normality

Question Number : 187 Question Id : 103435593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o @ eF-an fear Qfdeadh #1331 72
Options :

1. ¢ Uaefact Brefthare x ARl

2. % Tfaefact HIsMithrI x Hieerd!

3. % Ufaefact dlefthrre  ArHad]

4. % TIANRS x AHact

Question Number : 188 Question Id : 103435594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From where we can obtain Salicylaldehyde?
Options :

1. # bitter almonds

2. # vanilla beans

3. ¥ Meadowsweet

4. % cinnamon

Question Number : 188 Question Id : 103435594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g4 Aferafcsggs $al 3 UIa o Iohd 82
Options :

1. ¥ Hed g™

2. % e diwt

3. ¢ Higlerdie

4. % el

Question Number : 189 Question Id : 103435595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which element of group 13 does not decompose on heating?
Options :

1. ¥ boron

2. % aluminium

3. # gallium

4. % thallium

Question Number : 189 Question Id : 103435595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



THE 13 BT DI I dId AU TR 3{Tafed el gidl 82
Options :

1. ¢ IR

2. % TegiafTy

3. % Tifery

4. % Jfergw

Question Number : 190 Question Id : 103435596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect statement with respect to to factors affecting rate of reaction .
Options :

1. # Greater the concentration faster the reaction

2. % Catalyst increases the rate of reaction

3. ¥ the rate of reaction is not dependent on time

4. # greater the surface area , faster the reaction

Question Number : 190 Question Id : 103435596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUHIT BT QR DI THITId DHRA AT BRI & Haie T Teld HYU Dl I PR |
Options :

1. % ToTat i Higdl It ool sififehar

2. % IARS ANHUT Pt R I 8

3. ¢ T B R IFT R AR T8

4. % gag &F fora- g1 81, Sififosar I gt oo ghft

Question Number : 191 Question Id : 103435597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is Bordeaux mixture ?



Options :

1. ¥ Copper sulphate + lime water
2. # Copper sulphate +water

3. % Copper oxide + Water

4. # Copper oxide + lime water

Question Number : 191 Question Id : 103435597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o 9 & 91 aRg (SIS 3ia) s g2
Options :

1. ¥ BIR Febe + I BT UM

2. % DI Fetbe + UM

3. % B HRZS + YHI

4. % B HRTZS + T BT AT

Question Number : 192 Question Id : 103435598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the most abundant transition metal?
Options :

1. ¥ Iron

2. # copper

3. % cobalt

4. % zinc

Question Number : 192 Question Id : 103435598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S .. EN

Y TR [T H b a0 o1 S 9 82

Options :




1. ¢ Qg
2. % dY
3. % PHIdleC
4, % Sl

Question Number : 193 Question Id : 103435599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of spin only magnetic moment of Sc3t?
Options :

1. ¥ 0B.M.

2. % 173 B.M.

3. % 1B.M.

4, % 1.65B.M.

Question Number : 193 Question Id : 103435599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sc3t & Had JaBH 1T YUl & (= BT A FT 82
Options :

1. ¥ 0B.M.

2. % 1.73 B.M.

3. % 1B.M.

4. % 1.65B.M.

Question Number : 194 Question Id : 103435600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Alloys containing mercury as one of the constituent elements are called
Options :

1. ¥ amalgam



2. ® mercury oxide
3. % amalgam oxide

4. ® mercury alloy

Question Number : 194 Question Id : 103435600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U dcd b &0 U Ah<1 gad HYTgen o HET A |
Options :

1. ¢ qag

2. % AHY SHRES

3. % AT RIS

4. % TH g

Question Number : 195 Question Id : 103435601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of LUMO?

Options :

1. ¥ Lowest unoccupied molecular orbital
2. ® Least unpaired molecular orbital

3. # Lowest unpaired molecular orbital

4. ® Least unoccupied molecular orbital

Question Number : 195 Question Id : 103435601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LUMO &1 q0i T &1 g2

Options :

1. ¢ TIRE SATIUTRS AlTageR 3iifaed
2. % W 3FUS AildageR 3fifacd




3. % TSRE 3FUS AfTRER 3ifded
4. % ARE SFIRIUSS AARER 3iifdcd

Question Number : 196 Question Id : 103435602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the reaction : Ko[PtCls] + CH2=CHz ---------------- >
Options :

1. ¢ K[PtCI3(C,Hy)] + KCI

2. % K[(PtCl4)C,H,] + KCI

3. ® [PtCl4(C,Hy)] + KCI

4. ® K[Pt(C2H4)] + C12

Question Number : 196 Question Id : 103435602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R qUf B3 K,[PtCly] + CHy=CHy ~-mrmememememee .
Options :

1. ¥ K[PtCI3(C,Hy)] + KCI

2. # K[(PtCl4)C,H,4] + KCI

3. #® [PtCl4(C,Hy)] + KCl

4. % K[Pt(C,Hy)] + Cl,

Question Number : 197 Question Id : 103435603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Predict the shape of [Mn,(CO);]-
Options :

1. #® two trigonal pyramidal

2. # tetrahedral



3. # trigonal pyramidal
4. ¥ two square pyramidal

Question Number : 197 Question Id : 103435603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[Mn,(CO);(] & 3HR BT GaTTHH H< |

Options :

1. % g1 Bouiy fURifired
2. % IIEHADT

3. % Peiviy fRiffred
4. T IRITHSd

Question Number : 198 Question Id : 103435604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a type of Smog?
Options :

1. ¥ London smog

2. % Sulphurous smog

3. # Los Angeles smog

4. ¥ Unites nation smog

Question Number : 198 Question Id : 103435604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad & I &I 91 Y3iie1 &1 TR T8 82
Options :

1. % dad g

2. % Fehvd YT

3. % QA Uiore g3t



4. ¥ TARCY AR Y3fia

Question Number : 199 Question Id : 103435605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of cationic detergent?
Options :

1. # Ethoxylate nonylphenol

2. ¥ Sapamine

3. % Mifepristone

4. % Valium

Question Number : 199 Question Id : 103435605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad o 9 S 9T 4 SUHTSE B IR0 32
Options :

1. % QUifegele At

2. ¢ YU

3. % AR

4. % qferad

Question Number : 200 Question Id : 103435606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following drugs is used in stress relief?
Options :

1. # Chloramphenicol

2. ¥ Reserpine

3. # Penicillin

4. % Morphine



Question Number : 200 Question Id : 103435606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o9 ) <a1 a7d T8d | T B St 82

Options :

1. % FEARMG A
2. ¢ Raufza

3. % UfAfdfem

4. % ARG



